N
N

N

HAL

open science

An Overview of Khaling Verbal Morphology

Guillaume Jacques, Aimée Lahaussois, Boyd Michailovsky, Dhan Bahadur

» To cite this version:

Rai,

Guillaume Jacques, Aimée Lahaussois, Boyd Michailovsky, Dhan Bahadur Rai,. An Overview of
Khaling Verbal Morphology. Language and Linguistics, 2012, 13 (6), pp.1095-1170. hal-01361190

HAL Id: hal-01361190
https://hal.science/hal-01361190

Submitted on 7 Sep 2016

HAL is a multi-disciplinary open access
archive for the deposit and dissemination of sci-
entific research documents, whether they are pub-
lished or not. The documents may come from
teaching and research institutions in France or
abroad, or from public or private research centers.

L’archive ouverte pluridisciplinaire HAL, est
destinée au dépot et a la diffusion de documents
scientifiques de niveau recherche, publiés ou non,
émanant des établissements d’enseignement et de
recherche francais ou étrangers, des laboratoires
publics ou privés.


https://hal.science/hal-01361190
https://hal.archives-ouvertes.fr

LANGUAGE AND LINGUISTICS 13.6:1095-1170, 2012
2012-0-013-006-000241-1
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This article presents a comprehensive description of the Khaling intransitive
and transitive verbal paradigms, focusing on the complex system of stem alter-
nations, which is unmatched in the Sino-Tibetan family. Using internal reconstruc-
tion, we posit a reconstructed root and a set of rules from which all attested
alternations can be derived. Paradigms generated by a computerized version of
these rules have been validated by several speakers. This reconstruction serves as
a tool to efficiently classify and describe morphophonological alternations, and as
a basis for further research on diachronic morphology involving comparison with
other closely related languages such as Dumi and Koyi.

Key words: morphophonology, internal reconstruction, portmanteau morpheme,
templatic morphology, tonal alternations, Kiranti, Khaling, Dumi

1. Introduction’

Despite the fact that Khaling is one the earliest Kiranti languages to have been
described, its morphology is still poorly known in comparison with other neighbouring
languages such as Dumi (van Driem 1993). Previous work on Khaling failed to mark

We would like to thank Eka Prasad (Ramrise), Yadav Kumar (Bijame), Janaki (Majam),
Rashdhan (Gaunaslaal), Dharmendra (Uramlaal), Dhan Maya (Malim) Rai for their help
rechecking the paradigms. Kabimaya Rai (Majjati), Shubhamaya Rai (Majamphul), Nou Bdr.
(Jetha) Rai (Ainaslaal), and Basundhara Rai for their assistance during Guillaume Jacques’
fieldwork in Phuleli. This research financed by the LACITO and CRLAO research groups of
the French National Center for Scientific Research.

The abbreviations in this paper follow the Leipzig Glossing Rules. Additionally, the following
symbols are used in the description of the data and the definitions of the rules:

L: lengthening of the vowel; F: falling tone; C: any consonant; Cf: final consonant.

Internally reconstructed verb roots (see §5.1) are represented between vertical bars | |.
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tone alternations in verbs and vowel length, and gave an incomplete account of the verbal
paradigms.

The present article, based on recent fieldwork, provides a comprehensive account
of basic verb stem alternations in Khaling, covering the non-past, past and imperative
paradigms for all categories of verbs. Reflexive, negative, and auxiliary paradigms will
be treated in further publications.

This article is organized in three major parts. First, we provide a general account of
the Khaling language, including sociolinguistic data, synchronic phonology, and a basic
account of the verbal system. Second, we present a set of morphophonological rules,
based in part on the insights in Michailovsky (1975), to derive the attested stems from
reconstructed verb roots. Third, the paradigms of CVC intransitive, CVC transitive,
CVCt transitive and CV roots are described in four separate sections. Two appendices
provide a list of all possible stem alternations and a computer-generated list of all regular
verbal paradigms, based on the rules set out in this article.

2. General overview

Khaling is a Sino-Tibetan language belonging to the Kiranti subbranch, spoken by
around 15,000 people in Solukhumbu, Eastern Nepal. It is in contact with Sherpa,
Thulung, Kulung and Nachiring. Nearly all speakers of Khaling are also bilingual in
Nepali, but the language is still being acquired by children, even by some non-Khaling
children (Sherpa, Tamang, or Kami) living in the Khaling-speaking area. The following
map (Opgenort 2011:254, reproduced here with permission of the author), presents the
distribution of Kiranti languages, including Khaling:
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Map 1: The Kiranti languages (Opgenort 2011:254)

The data presented here were collected in July 2011, by a team of linguists during
a month of intensive elicitation and discussion with Dhan Bahadur Rai in Paris, and in
early 2012 by Guillaume Jacques during two months of fieldwork in Kathmandu and in
the district of Solu Khumbu, mainly in the villages of Phuleli and Kanku.

The main existing source of data on Khaling is a dictionary by linguists of the
Summer Institute of Linguistics (Toba & Toba 1975). This dictionary is a preliminary
work with many errors, and thirty years after its publication its authors advised one of
the authors of the present article not to rely on it. Still, it remains quite rich, with over
500 verbs, and it facilitated our search for verbs of different root categories.

On the basis of the infinitive and the 1SG>3SG form” cited for transitive verbs in
the dictionary,” Michailovsky (1975) was able to internally reconstruct verbal roots (e.g.
[lop| ‘to catch’) of the form (C)V(Cf)(t), with a system of five reconstructed vowels,
largely confirmed by the present research, and to show that the ‘high tone’ (in fact a
falling tone) marked on verbs in the dictionary predictably correlated with root-final (Cf)

% In the Leipzig Glossing System, this notation indicates a transitive form with first singular

agent and third singular patient.
3 The 15G form cited for intransitive verbs provided no more information than the infinitive.
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stop as indicated (usually) by the 1SG>3SG form. But the morphology remained incom-
pletely described (I. Toba 1973, S. Toba 1984). The morphological paradigms presented
here reveal a complex morphophonology involving stem rimes, including tones, and a
previously undescribed opposition of quantity.

Khaling is a relatively homogeneous language. The data in this article is based on
the dialect of Phuleli, but some marginal dialectal differences are briefly mentioned.

3. Phonology

This section presents a summary of the phonological inventory of Khaling, which
is necessary to understand the verbal system.

Khaling has a rich vowel system of ten distinctive timbres. In our recent research,
we found an opposition of length on eight of these.

Table 1: Vowel inventory

ii: CECH uuw

eer e e: oo

€ € A 00
aai

There is no opposition of quantity on /a/ (which is always short) and /0o/ (always long)
in the Phuleli dialect. In other varieties some speakers also have a long /A:/ phoneme.
There is no opposition of quantity in syllables with sonorant finals.

The inventory of syllable-initial consonants comprises the following 26 phonemes:

Table 2: Consonant inventory

p t ts k ?

p" th ts" k"

b d dz g

b" d" dz" g"

m n n
] A
1 T

w J

The phoneme status of the glottal stop /?/ is debatable, as words with initial glottal
stop could be alternatively analyzed as having zero-initial. However, its presence is
conspicuous word-internally in forms such as 7i?i ‘you are angry’ and word-initially in
quasi-minimal pairs such as:
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(1) Po3jne ‘to pronounce ritual words’
wo3jjne ‘to putin’

Few clusters are allowed in the syllable onset: only velar or labial stops followed by r or
[ are observed. No medial -j- or -w- are found. Apparent examples of medial -w- occur
in realizations of the diphthong /09/, e.g. /k"03nne/ ‘to go’.

Only ten consonants are found syllable-finally: p ¢t k m n » r I 5 j, to which we must
add the marginal phoneme /¢/. No complex codas are possible.

The segment [¢] is originally the allophone of /t/ before velars and labials. It also
appears however before the 1P.PST suffixes -tiki and -taka. Two hypotheses are proposed
to explain the appearance of [¢] in this position. First, we could propose that -tiki and
-taka come from -ktiki and -ktaka, forms still attested in open-vowel root paradigms, and
that the -k~ of the cluster was simplified in consonant-final stems. Second, these forms
could be the result of analogy. If we take the verb [set| ‘to kill’ (cf §7), the expected
1pr>3 forms, assuming the rules *t > ¢/ [+velar|+labial] would be:

(2) 1PLNPST *set+ki > se¢ki
1PLPST *get+tiki > *gettiki

It is therefore possible that attested sectiki is analogically renewed after the non-past
form secki.

Whatever its origin, /¢/ is in opposition with both /t/ and /s/ as the first element of
an internal cluster before /t/ (VttV, VstV and VetV are all possible), so it must be assigned
phonemic status despite its limited distribution.

Tone is phonemic (1) on open syllables with long vowels and (2) on syllables with
resonant finals. There are two tones: level and falling. We transcribe the former with a
macron & and the latter with a circumflex accent & following the Africanist tradition.

Open syllables may be short without contrastive tone, long with level tone, or long
with falling tone, as exemplified by (3) and (4):

(3) tsene ‘be spoiled (of flour)’ (root [tse|)
tséne  ‘sieve’ (root |tseq))
tsé:ne ‘close’ (root [tsekt|)
(4) me ‘that’; ‘to do (3S>3.NPST)’
mé: ‘over there’ (the reduced form of mejo)
mé: ‘completely (ideophone)’ (used with the verb root [rumt| ‘to coil”)

Syllables with a resonant final have either level or falling tone, with no opposition
of length. We find scores of minimal pairs of infinitives like the following:
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(5) losmne  ‘to look for (infinitive)’
lodmne  ‘to catch (infinitive)’

Syllables ending in p, ¢, or k may be short or long. There is no opposition of tone, but
we redundantly transcribe the phonetically falling tone heard on long syllables with stop
finals, e.g. ré:p ‘he stands’.

One further tonal phenomenon occurs in a specific morphological context. In the
purposive construction, level tone monosyllabic nouns (but not verbs) have low-tone
allomorphs when they function as locative-marked complements of the verb |k"ot| ‘to
go’. We find the following minimal set:

(6) a. bdi Pu-ghas kém-bi kes-t-¢
cow 3S.POSS-grass chew-LOC  go-PST-2/3S
‘The cow went to chew the grass.’ (from the verb kémne ‘to chew”)
b. kém-bi k'es-t-e
elk-LOC g0-PST-2/38
‘He went (to hunt) for the elk.” (from the noun kém ‘elk’)
c. keém-bi k'es-t-¢
work-LOC ~ go-PST-2/3S
‘He went for his work.’ (from the noun kém ‘work’)

The tonal contrast between (a) and (c) is morphologically determined: verbs with
level-toned infinitive stems have their usual high level tone before the locative suffix in
the purposive construction, but lexically level-toned nouns appear with a low level tone.
Such nouns may be considered to have low-toned allomorphs in this context. Minimal
pairs are easily found, and have been rechecked with several speakers.”

Syllables in polysyllabic words may be stressed or unstressed. In verb forms, the
verb stem is always stressed, as is the first syllable of a bi- or tri-syllabic suffix string.
Given its predictable nature in verb forms, stress is not indicated in the present paper.

4. Verb morphology: the affix paradigm

Both the stem and the affixes of a Khaling verb vary throughout the tense and
agreement paradigm. The stem-forms show alternations which can be related to the
morphonological characteristics of an internally reconstructed root, whose derivation
for each verb will be presented in §5. The affixes are drawn from a single morphological

* For instance say-bi kheste ‘He went to ask’ from the verb root |sin| ‘to ask’ vs. sdy-bi kheste
‘He went for the firewood’ from the noun sdy ‘tree, firewood’.
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paradigm which applies essentially to all verbs. The present section is a general
introduction to the affix morphology.

The template in Table 3 presents a synthetic view of the affixes that may appear in
a finite verb form with their relative order and position with respect to the verbal stem (X).
The affixes are organized according to a templatic, rather than layered, principle (see
Bickel & Nichols 2007).

Table 3: The Khaling verbal template

prefix stem |person (I) |auxiliary |person (II) |TAM person (II) |reflexive’  |number
-1 0 |+l +2 +3 +4 +5 +6 +7
- (2 or Y |-p- (I1SG) |-de(t-) |-pa/-a -t- past - (2/3) -si -su (2/3DU)
INVERSE) -i- (DU) -ter(d-) | (18G.S/0) |-w-irrealis |-na/-a -su (1SG.PST)|-nu (2/3PL)
mu- (NEG) k- (1PL)  [-k"A(D)- |-u (1SG>3) (18G.S/O) |-n (3PL.PST) |-ni (2PL
mA- (2.NEG) -n- (2PL, |etc -i (1DU) -u (1sG>3) NPST,
1>2, INF) -k (IPL.PST) -i (1DI) 1>2.PST)
-ne (1>2, INF) -u (1DE)
-()ki (1p1)
-(a)ka (1PE)

There are one prefixal position and seven suffixal positions. Some inflectional suffixes
(position +1) originate from ‘trapped’ morphemes in Harris & Faarlund’s (2006) sense,
i.e. affixes sandwiched between the stem and a clitic (which afterwards became integrated
in the verbal template).

Many pairs of affixes are in relations of mutual exclusion, so that the number of
possible combinations is far less than the table would suggest. In the following examples,
taken from texts, the position class of each affix is marked as a superscript in the tran-
scription:

(7) tsetstsosu-Pa  meisa  sip-t*-e*-su’ Pe
children-ERG thus  ask-PST-2/3-DU HEARSAY
‘The two children asked her in this way.’ (Solme and Lamalit II, 3)

(8)  kdm-bu-ju tsémho:-t-a° mdm-ti-e-si¢
house-LOC-down  forget-PST-1SG  remember-PST-2/3-REFL
melo l6-n'-pe’-ne’ glrés-tt-e’

at.that.time fetch-INF-REACH-INF be.reluctant-PST-2/3
‘He thought that he had forgotten (his plough) in the house, but he was
reluctant/hesitated to go to fetch it at that time.” (The plough, 7)

> The reflexive suffix sometimes appears between the suffixal slots +2 and +3 as in
mdm-sis-pa3-t*-4° ‘I thought’.
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9) groslpe

big

glro:t
goat

me
that

nér-/¢

-l
mu -ku-kat?-wi-e’

hola

tiger-ERG NEG-eat-COMPLETELY-IRR-2/3 maybe
‘That tiger probably did not eat the big goat.” (Tiger and fern, 29)

The present article describes the non-negative indicative and imperative paradigms.

Forms containing auxiliary verbs (suffixal position 2), which express either Aktionsarten
or Associated Motion (go to, come to etc), will not be treated, nor will reflexive or

negative forms.
Tables 4 and 5 present the non-past paradigms of the intransitive verb ‘to have
enough’ and the transitive verb ‘to catch’, whose reconstructed roots (§5.1) are respec-
tively |sop| and |lop|. In the transitive paradigm, the row-headers in the first column
indicate the person and number of the agent and the column headers those of the patient.
To simplify the presentation, the suffix string of tense and agreement markers is tran-

scribed and glossed as a single unit: thus the suffix -iti is glossed as a portmanteau
‘1DL:PST’ rather than as a combination of three morphemes -7°-#4-i°.

Table 4: Intransitive non-past paradigm: |sop| ‘to have enough’

1s
1DI
1DE
1pPI
1PE
2s
2D
2p
3s
3D
3p

sodm-na
sep-i
sep-u
soop-ki
soop-ka
?i-soop
?i-sep-i
?i-sodm-ni
S0op
sep-i
sodm-nu

Z-nA
z-i
Z-u
2-ki
>-ka
-2
2i-Z-i
?i-Z-ni
z

i
Z-nu

Table 5: Transitive non-past paradigm: |lop| ‘to catch’

1s lior [ioe Jier Jiee s | |or 3s 3D 3P
11s | lodm-ne|lodm-su|lodm-nu [lob-u  |lob-usu |lob-unu
|1DI | lep-i
| 1DE] |?i-loop |?i-lep-i |?i-105m-ni lep-u
| 1PI | loop-ki
1PE ?i-loop |?i-lep-i |?i-105m-ni loop-ka
28 |?i-lodm-pa ?i-lé:b-u|?i-lé:p-su ?i-16:p-nu
2D |?i-lodm-pasu ?i-lep-i
2P |?i-lo5m-panu ?i-lo5m-ni
3S |?i-lodm-pa  |?i-lepi|?i-lepu|?i-loop-ki|?i-loop-ka|?i-loop |?i-lep-i |?i-lodm-ni|l6:b-u
3D |?i-lodm-pasu 16:p-su
3p |?i-lodm-panu 16:p-nu
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Note that the correlation between syntactic transitivity and conjugation class is not 100%
congruent. We find one intransitive deponent verb |?et| ‘to say’ (1SG ?P¢iya) with
intransitive conjugation which is syntactically transitive, as agreement occurs with an
argument marked with the ergative marker -7e. We also find several morphologically
transitive verbs (including CVCt) which do not allow any argument in the ergative, and
which we call transitive deponent. These verbs (for instance |?omt| ‘to ripen’, 3.NPST
205md#) only allow non-animate arguments, and are restricted to 3SG forms. In the rare
cases where 3DU and 3PL forms are found, these agree with the absolutive argument.
Deponent verbs will not be discussed in any detail in this article, but some examples
can be found in the annex, as for some root types (such as |[Comt|) only transitive
deponent verbs are known.

In the paradigms, the verb stem alternant is marked off from prefixes and suffixes
by hyphens. The boundary between stem and suffix does not necessarily correspond to a
syllable-boundary. In particular, the final consonant of a CVC stem functions pho-
nologically as the syllable-initial before a vowel-initial suffix, and as a result, the vowel
of'a CVC stem may occur in a phonologically open syllable.

As noted above, essentially the same affixal paradigm applies to all verbs. The
transitive paradigm, in which agreement with two arguments may be shown, is in general
a superset of the intransitive one. Thus inverse® transitive forms with 1st and 2nd person
object (see the row with 3SG agent in Table 5) have the same suffixes as the 1st and 2nd
person intransitive forms, except that they carry the inverse prefix 2i-" and may have an
extra suffix to mark dual or plural number of the 3rd person agent. These shared or
partially shared forms will be referred to as ‘inverse/intransitive’ below. Affixes unique to
the transitive paradigm are found in 1SG>2 forms and in certain ‘direct’ forms with 3rd
person object (e.g. 18>3, 2s, 35>3S) in Table 5.

In the more complete paradigms below it will be seen that all past tense forms have
the marker ¢ in the suffix string, often with a supporting vowel.

5. Verb roots and stems

After a short general introduction to stem alternations, we shall show how these

‘Inverse’ refers to forms of the transitive paradigm in which the patient outranks the agent on
the person hierarchy 1>2>3; the converse is ‘direct’. 3>3 forms in Khaling are direct forms. True
direct/inverse systems are found in related languages, such as Rgyalrong (Sun & Shi 2002,
Jacques 2010).

This prefix has two overlapping functions: it marks all forms with 2nd person arguments
except 1>2 forms, and it marks all inverse forms. For a historical account of the origin of this
prefix, see Jacques (2012) and DeLancey (2011).
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can be used to reconstruct a root form for each lexical verb.

The basic stem alternations of all but open syllable roots are illustrated in Tables 4
and 5, which show the alternations in roots with the final |-p|. Stop finals in CVC roots
generally show nasalization before a nasal-initial suffix (as in the infinitive), and are
often voiced before a vowel initial suffix, alternations that do not affect the stems of
roots with continuant finals. Among root-final stops and nasals, bilabials have the most
straightforward stem derivations: dental root-finals undergo more complex changes,
while velar root-finals are dropped in some forms, with compensatory lengthening.

We identify a basic alternation, affecting most rimes, between strong and weak
vowels. In Tables 4 and 5 the alternation is between 0o (strong) and o (weak). The
strong alternants of back root vowels are backed (here to o) before the 18>3 suffix u.
Table 6 shows the basic strong and weak vowel alternants of roots in final |-p|:

Table 6: Vowel alternations in stems from |[CVp| roots

root vowel ip ep ap op up
strong Ap ep ep 00p  Ap
weak ip ep ep ep Hp

The falling tone of the infinitive and some other forms of of |lop| and |sop| (e.g. lodmne
‘to catch’) is correlated with the stop root-final (cf. the infinitive losmne ‘to look for’,
root |lom|), but stems with level tones or with toneless short vowels also appear in the
paradigms of these verbs.

A verb may have up to ten different stem alternants. The following Table lists the
stem alternants of the verb |fiod| ‘to bring’.

Table 7: Forms showing the 10 stem alternants of |fiod| ‘to bring’

STEM TENSE Person ‘to bring’ (transitive)
1 NPST 1s>3 fiod-u

2 NPST 1D>3 fiots-i

3 NPST 1pr>3 hoa¢-ki

4 NPST 2p>3 ?i-fiodn-ni
5 NPST 3s>3 fi6:d-u

6 NPST 3p>3 fQé:t-nu

7 PST 1s>3 fQo:-tA

8 PST 1D1>3 fios-ti

9 PST 3s>3 fé:-te

10 NPST 3s>1s ?i-fi03j

This complexity is lessened by three factors: (1) Stems have a simple structure, CV(C)(t)
(with tone and length), in which only the rime, never the onset, alternates. (2) Although
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the set of stem-alternants of a verb may be relatively large, it can be fully determined
from a much smaller number of key forms: for many transitive verbs, the 1S>3S non-past
alone is enough. In other cases, one or more of the dual, the third person past and the
second plural non-past are required. This implies that (3) the number of possible
alternation sets is much smaller than the number of alternants in each might suggest.

5.1 Internal reconstruction of verb roots

Following the basic insights in Michailovsky (1975, in press), it is possible to posit
an internally reconstructed or morphophonological root form from which the occurring
stem forms can be derived.

The reconstructed root form and the transitivity type (intransitive vs. transitive) are
all that is needed to assign each verb to its conjugation class. This reconstructed root has a
diachronic reality — it represents, with probably some minor changes due to analogy, the
pre-Khaling form of the verbs, and it is the form which should be used in comparative
work. It is unlikely that this root has a synchronic reality for speakers, but the diachronic
perspective greatly simplifies the classification of observed alternations. Synchronically,
the reconstructed root form is the most economical statement of the information needed
to distinguish one Khaling verb from another (barring homonymy), and the inventory of
possible root forms (defined by the inventories of reconstructed onsets, vowels and
finals) defines the space of possible lexical verb roots. In the course of our research, this
allowed us to predict the existence of some conjugation types (in particular the |-ent|
root type) and all their correct forms before finding actual verbs which exemplify them.

In the following sections, we shall first present the complete inventories of
consonantal and vocalic alternation sets. Then, from these alternation sets (presented in
§5.2 for consonants and §5.3 for vowels), we shall posit the reconstructed form of the
root final consonant and vowel. Since initial consonants present no alternations, the root
onset will at times be identified by a default C (representing a consonant or a C(l/r)
cluster). Finally, the set of rules necessary to derive the surface stem forms from the
reconstructed roots will be presented.

The stem derivation rules state the root segments or rimes affected, the result, and
the morphophonological and morphological contexts that condition application of the
rule. For computational simplicity, the rules are defined so as to avoid feeding or bleeding
relationships. Each rule applies independently to the root if the stated conditions are met.
The resulting stem reflects all of the alterations to the root contributed independently by
the applicable rules.

The rules by which we propose to derive occurring stem forms from the roots do
not in general belong to the synchronic phonology of the language; they are conditioned
by specific morphophological contexts. They no doubt to a large extent reflect earlier
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phonological rules by which verbal stems were influenced by suffixes. But although we
believe that our reconstructed roots give an idea of the pre-Khaling form of verbal stems,
we have no reconstruction of the carlier forms of the suffixes, so the reconstruction of
these phonological processes must remain a subject for future research.

5.2 Consonantal alternations

There are sixteen alternation sets of stem final consonants,8 fifteen with transitive
verbs and eight with intransitives. In the following table, these are presented with a
default onset C and the stem vowel e; e is chosen because it is the vowel with the fewest

alternations, limited to tone changes and length.

Table 8: Stem final consonant alternation sets’

1SG>3SG.NPST ~ 3SG.NPST  INF IDE.NPST  1PLNPST IDLPST  3SG>3SG.PST

(TR) (IT) (TR)
1 Cegu Ce: Céme Cek-u Cek-ki Cek-iti  Cék-te
2 Ceb-u Cemp Cémne Cep-u Cep-ki Cep-iti  Cé:p-te
3 Ced-u Céi Cénne  Cets-u Ceg-ki Ces-ti Cé:-te
4  Cep-u Cen Ceme  Cep-u Cen-ki Cep-iti  Cén-te
5 Cem-u Cem Cemne Cem-u Cem-ki Cem-iti  Cém-te
6 |- Cgj Cejne  Certs-u Cgj-ki Ce:s-ti --
7  Cer-u Cer Cermme  Cer-u Cer-ki Cer-iti Cér-te
8 Cel-u Cel Celne Cel-u Cel-ki Cel-iti Cél-te
9  Cekt-u Céme Cek-u Cek-ki Cek-iti  Cek-te
10 Cept-u Cémne Cep-u Cep-ki Cep-iti  Cep-te
11 Cett-u Cénne  Cets-i Ceg-ki Ces-ti Cet-te
12 Cend-u Ceme  Cep-u Cgj-ki Cep-iti  Cén-te
13 Cemd-u Cemne Cem-u Cem-ki Cem-iti  Cém-te
14  Cend-u Ceine  Cets-u Cgj-ki Ce:s-ti Cén-te
15 Cerd-u Cermme  Cer-u Cer-ki Cer-iti Cér-te
16 Celd-u Celne Cel-u Cel-ki Cel-iti Cél-te

The lack of synchronic phonological motivation for the morphophonological alternations
is seen in the table. The suffixes 1SG.NPST (tr) -u and 1DE.NPST -u and (seen in the first
and fourth columns in Table 8) are homophonous, but they occur with different stem
alternants. Thus, one cannot describe the stems only in terms of phonetic environment:

8 Open root verbs, with no final consonant, will be treated separately, in §7.

? Verbs with CVCt roots (lines 9-16) are all transitive and thus do not have the intransitive form
of column 2. Alternation set Ne 6 is not attested with transitive verbs, hence the grey cells in
columns 1 and 7.
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most of the alternations are determined by the morphological context, and only occur
with a specific set of suffixes (The precise list of suffixes associated with each stem will
be presented in the appendix).

Of all verb forms, the 1SG>3SG.NPST of transitive verbs is one of the most
informative: all alternation sets (except those numbered 12 and 14 in Table 8, for which
a dual form is also required) can be distinguished by this form alone.'® We reconstruct
the root-final consonant (Cf) based on this form. For intransitive verbs, the 3SG.NPST is
similarly useful.

Table 9: The reconstructed root final consonants for each alternation set

1SG>3SG.NPST (TR) 3SG.NPST (IT) INF Reconstructed Cf
1 Ceg-u Cé: Cé:ne k
2 Ceb-u Cep Cémne p
3 Ced-u Cgj Cénne t
4 Cep-u Cey Cemne |
5 Cem-u Ceém Cemne m
6 Cgj Cgéjne n
7 Cer-u Cer Cerne r
8 Cel-u Cel Celne 1
9 Cekt-u Cé:ne kt
10 Cept-u Cémne pt
11 Cett-u Cénne tt
12 Cénd-u Cémne nt
13 Cémd-u Ceémne mt
14 Cénd-u Cgéjne nt
15 Cérd-u Ceérne rt
16 Celd-u Celne It

In Table 9, each alternation set is associated with a reconstructed Cf (sometimes with
additional postfinal #) which identifies it. The stem in 1SG>3SG.NPST (tr) differs from the
reconstructed form only by voicing of the Cf, and in the case of pt-final roots by
assimilation of # to the following dental.

The sixteen rules of Table 10 derive the surface forms from the reconstructed final
consonant of the root:

1% 156>3SG.NPST is the form listed (with the infinitive) in Toba & Toba (1975).
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Table 10: Morphophonological rules for root final consonants''

Rule Reconstructed form Outcome Context
1.1  voicing ptk bdg all vowel-initial suffixes except the dual
-i/-iti and -u/-utu
1.2 affrication 1 n Lts dual non-past -i and -u
t ts
1.3 affrication 2 n Ls dual past -iti and -utu; all past suffixes in

t S -tV for the intransitive and transitive

inverse paradigms; imperative plural -nuje
1.4  fricativization t ¢ all suffixes of the form -kV and -pV
1.5 nasalization1 p Fm nasal-initial suffixes (except the

k FL imperative plural -nuje)

1 L with -k final roots, this rule either yields
long vowel with falling tone or
nasalization to - and falling tone

1.6  nasalization2 t Fn nasal-initial suffixes except 15.S/0 -pa
and the imperative plural -nuje

1.7 lenition 1 t Fj when not followed by any suffix or
followed by 18.S/O -pa

1.8  lenition 2 t FL past transitive direct -tV suffixes

1.9  lenition 3 n ] i) nasal-initial suffixes (except the
imperative plural -nuje)
i) when not followed by any suffix
iii) with 1P -ki/-tiki and -ka/-taka

1.10 lenition 4 k FL i) nasal-initial suffixes (except the
imperative plural -nuje)
i) when not followed by any suffix
with [ik| roots, the rhyme changes to i:

1.11 lenition 5 | L i) nasal-initial suffixes (except the
imperative plural -nuje)
i) when not followed by any suffix

1.12 simplification I Ct C dual -i/-iti and -u/-utu and all inverse
forms; 1P -ki/-tiki and -ka/-taka

1.13  simplification 2 Ct C 3D/P.NPST
all past -tV suffixes in direct forms except
1p

1.14 assimilation 1 nt nt all contexts except those affected by the
rule simplification 1 (but not simplification
2)

1.15 assimilation2 1,k Fn 1S>2D/P.NPST; 15>2.PST

""" As mentioned in footnote 1, F and L refer to changes to the root vowel seen in the stem
(F=falling tone, L=lengthening) in addition to changes to the final consonant. Note that changes
in the quality of the vowels in the stems are discussed separately in the next section.

1108



An Overview of Khaling Verbal Morphology

5.3 Vowel alternations
Despite the fact that eighteen vowel phonemes occur in Khaling, only ten categories
of vowel alternations are attested for consonant-final roots, exemplified in Table 11 with

roots in |-k| and |-p|.

Table 11: Vowel alternation sets: roots in |-k| and |-p|

INF IDE.NPST IPLNPST 1DLPST IS.NPST(TR) 3S.NPST(IT) 3S.PST(TR)

1 ak, TR Car-ne Cak-u Cak-ki Cak-iti  Cag-u Cak-te
2 ak,IT Carne Ce-ju Cak-ki  C&-jti? Ca:
3 ek Cé:-ne Cek-u Cek-ki  Cek-iti Ceg-u Ceé: Cék-te

ep Cém-ne  Cep-u Cep-ki  Cep-iti  Ceb-u Cép Cé:p-te
4 ik Ci:-ne Cik-u Cak-ki  Cik-iti  Cig-u Ci: Cik-te
5 ok Co:-ne Cek-u Cok-ki  Cek-iti Cog-u Co: Cok-te
6 uk Ci:-ne Cuk-u  Cuk-ki Cuk-iti Cug-u Ci: Cik-te
7 gp Cém-ne  Cep-u Cep-ki  Cep-iti  Ceb-u Cep Cep-te
8 ip CAm-ne  Cip-u Cap-ki  Cip-iti  Cib-u Cap Ciip-te
9 op Codm-ne  Cep-u Coap-ki Cep-iti  Cob-u Coop Cé:p-te
10 up CAm-ne  Cup-u Cap-ki  Cup-iti  Cub-u Cap Ciip-te

In alternation set 4, there is free variation between the realization u# and # in the
infinitive and 3S.NPST (cf rule 1.10).

Each alternation set represents a single root vowel. We do not need to posit 10
different root vowels, however, because some pairs of sets (hence of potential root vowels)
are in complementary distribution, as shown in Table 12.

Table 12: Complementary distribution between alternation sets

alternation set number intransitive transitive l-nl, |-k| non-velar Cf

1 + + +(one example)
2 + +

3 + + + +

4 + + +

5 + + +

6 + + +

7 + + +

8 + + +

9 + + +

10 + + +

Only alternation set 3 occurs in all contexts; the other sets fall into pairs related by com-
plementary distribution.
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Sets 1 and 2 are in complementary distribution with regard to the transitivity of the
verb: set 1 is restricted to transitive and set 2 to intransitive verbs. We consider that these
two sets taken together are almost in complementary distribution with set 7, conditioned
by velar (sets 1/2) vs non-velar (set 7) root finals. There is one exception, however:
Jjalne ‘to strike’ (1SG jalu) is a set 1 verb with a non-velar root-final, whose expected
form would be *jélne (1SG *jelu). Compare pélne ‘to coil’ (1D pelu). |a| and |e| certainly
both originate from one proto-phoneme *a, given their quasi-complementary distribution
and the numerous alternations between /a/ and /¢/ in the paradigms of intransitive |-ak]|
verbs and |-¢| verbs. The irregular vocalism of |jal| can be explained in two ways. First,
it could be due to a special dissimilatory rule of |¢| after |j|. This hypothesis appears
problematic however since we do find verbs with initial |j| and |¢| vocalism, such as |jet]|
‘to like’. Second, it could be a borrowing from Thulung jal- (Lahaussois 2003:13).

Sets 4, 5, 6 are in complementary distribution with 8, 9, and 10 respectively, with
regard to the final consonant: the first group (1-6) only occurs with velar final
consonants |-y| and |-k| (including the clusters |-kt| and |-nt|, cf §7), while the second
group (7-10) appears with all other final consonants.

As a result, and ignoring the irregular stem rime of the verb jalne, only five vowels
need to be reconstructed in non-open verb roots (Table 13).

Table 13: Reconstructed root vowels and their correspondence with alternation sets

set
12,7

= 0O =™ o ©
NV W

— O o0

The following six rules of Table 14 are needed to derive the surface forms from the

root:
Table 14: Morphophonological rules for root vowels
Rule Reconstructed Outcome Context
form
2.1  fronting 1 ou ou i) CVC it. roots, inverse forms: dual -i/-iti

and -u/-utu and all past and imperative
except 1pii) CVC tr. roots: all suffixes
except 1S -u/-(u)ta, 1P -ki/-tiki and
-ka/-taka, 2P.NPST -ni and the infinitive -ne
iii) CVCt roots: only dual -i/-iti and -u/-utu
and 2P.PST -tenu
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2.2

23

24

2.5

2.6

fronting 2

opening

backingl

centralization

backing 2

iou

oui

ou

A O3 A

OuA

ou
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This rule applies to all |-aC| roots where -C
is not a velar, except for the verb jalne ‘to
strike’.

i) CVC it. non-velar roots, inverse forms:
1/2/38.NPST, 1P -ki/-tiki and -ka/-taka

ii) CVC tr. non-velar roots: 1P -ki/-tiki and
-ka/-taka, 2P.NPST -ni and the infinitive -ne
iii) CVCt non-velar roots: all forms except
dual -i/-iti and -u/-utu and 2P.PST -tenu and
imperative dual and plural

1) CVC it. velar roots, inverse forms:
1/2/3S.NPST, 1P -ki/-tiki and -ka/-taka

ii) CVC tr. velar roots: 1P -ki/-tiki and
-ka/-taka, 2P.NPST -ni and the infinitive -ne
iii) CVCt velar roots: all forms except dual
-i/-iti and -u/-utu and 2P.PST -fenu and
imperative dual and plural

i) velar roots and |jal|: 1/2D -i/-iti and
-u/-utu, 1S -u/-uta; never occurs with
consonant-initial suffixes such as
2PL>3.PST -tenu or 2PL>3.IMP -nuje

it) 1S.PST [ak]| intransitive roots

1SG>3sG this represents a later backing
due to the 18 suffix -u; this change is
distinct from 2.4

5.4 Synthesis

The internally reconstructed verb root fits the template CVC(t). The initial C can

be any one of the regular Khaling consonant initials or stop+resonant clusters (§3). The
final consonants of the verb roots differ in two ways from the inventory of word or
syllable codas: (1) final -s, which is attested in nouns (for instance /s ‘man’), is not
attested in verb roots.'? (2) roots allow final Ct clusters.

The reconstructed vocalic inventory of the roots, with only five vowels, is con-

siderably reduced compared to the 18 phonological vowels found in Khaling, but is

consistent with what can be reconstructed in neighboring Kiranti languages with rich
vowel systems; e.g. Bahing (Michailovsky 1975), Thulung (Allen 1975), Wambule
(Opgenort 2004), and Dumi (Michailovsky in press).

12" Ancient -s root verbs have become open-syllable roots. For instance, [khe| ‘to steal’, has an
irregular derived noun k’espe ‘thief’, which preserves a trace of the final consonant.

1111



Guillaume Jacques, Aimée Lahaussois, Boyd Michailovsky, and Dhan Bahadur Rai

The set of rules presented above suffices to generate most forms, but the three
additional rules relating to vowel length and tone are also needed:

Table 15: Additional rules: quantity and tone

Context

3.1 The vowel is lengthened in transitive CVC 2SG>3, 3>3 (past and non-past), transitive or
intransitive IMP.SG.

3.2 Sonorant-final stems have a falling tone when directly followed by 2/3 dual -su, 2/3

plural -nu and 2/3 past singular -ze, except in imperative and 1SG>2SG forms — that is,
in 3D/P.NPST (TR), 2S.PST (TR. and IT.), 3S.PST (TR. and IT.), 3D/P.PST (TR.) forms.

33 The vowel is lengthened in intransitive/inverse |Cep| and |Cep| root verbs in 3>2sG and
2/3SG, that is, when the stem appears without a suffix. These two rimes are the only
obstruent-final ones which do not undergo either 1.2-1.11 or 2.3/2.4.

In addition, the forms of intransitive |-ak| verbs present a series of idiosyncrasies and need
to be treated separately.

By combining the 24 rules presented above, one can derive stems from the recon-
structed root. There are no non-alternating verbs, although some categories (such as |-er])
alternate less than others."> Transitive CVC verbs have at most 10 stems, CVCt verbs at
most 6 stems, and CVC intransitive verbs at most 5 stems.

A Perl script implementing these rules produced the list of 123 regular paradigms
in Appendix B. This computational application (and the validation of the results by
speakers) confirms the validity of the rules presented in this section.

Providing a genuine historical analysis of the Khaling verbal system will require a
systematic comparison with the closely related Dumi and Koyi: some of the rules (for
instance 1.2, 1.3) are shared with Dumi and Koyi and should be reconstructed back to
proto-Dumi-Khaling, while other rules (all the vowel change rules) are probably recent
innovations, that took place long after the split with Dumi. The ordering of the sound
changes will require a thorough comparison, and cannot be undertaken without taking
nouns into account. The analysis provided here is in fact the prerequisite for historical
comparison; a comparable analysis of Dumi (Michailovsky in press) and Koyi (Lahaussois
2009) is necessary before attempting any comparison between the three languages.

6. CVC intransitive verbs

Intransitive verbs have at most five different stems. These stems are derived using
the rules defined in §5. In the tables below, the rules which must be applied to derive the
form for each person/number/tense combination are given. Where the rules are separated

" The only changes to the stems for |er| are tone changes and lengthening.
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by a slash, it is because different rules apply in mutually exclusive contexts depending
on the phonology of the root. The application of the rules is exemplified with two distinct
root types, |-ot| and |-ur].

To clarify the discussion of these forms, we shall give distinct labels to all the
stems, which will also be used in the appendix. The labels are composed based on the
rules that produced the stem.

Stems which have undergone the opening rule 2.3 (for non-velar roots) and the
backing rule 2.4 (for velar roots) are called strong stems; stems that have not undergone
these rules are called weak stems.

For intransitive verbs, two weak stems need to be distinguished, the basic one Z(w)
and and the lengthened (or geminated) weak stem X(w,l) found in the imperative singular
exclusively. Dental-final root verbs have an additional past weak stem X(w,p) which
undergoes rule 1.3.

Strong stems need to be divided into three sub-stems:

a) The plain strong stem X(s), which undergoes rule 1.7 in the case of dental-final
roots, and rule 3.1 in the case of |-Vp| roots.

b) The assimilating strong stem X(s,a), which undergoes rules 1.5 and 1.6. Note
that rule 1.5 applies to the 1SG, while 1.6 does not. This implies that dental roots (which
undergo 1.6) have the plain strong stem in the 1SG.NPST, while other root classes have
the assimilating strong stem. Velar final stems are a special case: rule 1.5 only optionally
applies to the 1SG.NPST, so that for [CVk| roots both CViga and CVyna are possible,
while for |CVp] roots both CV:na and CVnna are possible. In the appendices, only the
first variant is presented.

¢) The 1P strong stem XZ(s,1P), which undergoes rule 1.4. This stem is distinct from
2(s) only in velar and -p final roots.

Table 16: Deriving non-past stems from intransitive verb roots

Non-past |k"ot] [b"ur| Stem id., affixes Rules

‘to go’ ‘to become crazy’
Is k"03j-na bAr-na 3(s,a)-nA (1.5/1.7/1.9/1.10/1.11) (2.3/2.4)
1pI KPots-i bPur-i S(W)-i (12) (2.112.5)
IDE k"ets-u bur-u ¥(w)-u (1.2) (2.1/2.5)
1pI Khoog-ki  bMAr-ki 5(s)-ki (1.4/1.9) (2.3/2.4)
1PE Khoog-ka  bMAr-ka %(s)ka (1.4/1.9) (2.3/2.4)
2s ?i-k"0dj  Pi-b"Ar 24-2(s) (1.7/1.9/1.10) (2.3/2.4) (3.3)
) Piklets-i  2i-bhur-i AN-S(w)-i (12) (2.172.5)
2p %i-k"o5n-ni  ?i-b"Ar-ni ?i-X(s,a)-ni (1.5/1.6/1.7/1.10/1.11) (2.3/2.4)
3s K 03j bPAr (s) (1.7/1.9/1.10) (2.3/2.4) (3.3)
3D KPots-i bPur-i S(W)-i (12) (2.112.5)

3p k"03n-nu b"Ar-nu 3(s,a)-nu (1.5/1.6/1.7/1.10/1.11) (2.3/2.4)
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The first singular and dual past tense suffixes appear with or without a leading vowel:
-ata, -iti, -utu or -ta, -ti, -tu. The latter set is restricted to |CVt| and |CVn| roots, while the
former appears with all other root types.

Table 17: Deriving past stems from intransitive verb roots

Past  |k"of| |b"ur] Stem id., affixes Rules

Is k"es-ta bhur-ata Z(w,p)-(a)ta (1.3) (2.1/2.5)

DI k"es-ti bhur-iti (w,p)-()ti (1.3) (2.1/2.5)

IDE K'es-tu bhar-utu S(w,p)-(u)tu (13) (2.1/2.5)

Il Kroog-tiki bPAr-tiki 3 (s)-tiki (1.4/1.9) (232.4)
1PE k"oo¢-taka bhAr-taka 3(s)-taka (1.4/1.9) (2.3/2.4)
2s ?i-k"es-te 2i-bMr-te ?i-2(w,p)-te (1.3) (2.1/2.5) 3.2
2D i-k"es-ti 2i-bPar-iti ?2i-2(w,p)-()ti (1.3) (2.1/2.5)

2p %i-k"es-tenu  ?i-b"ur-tenu ?i-X(w,p)-tenu (1.3) (2.1/2.5) 3.2
3 Kles-te bhar-te (w,p)-te (13)(2.12.5) 3.2
3D k"es-ti bhur-iti (w,p)-()ti (1.3) (2.1/2.5)

3p k"es-tenu bur-tenu >(w,p)-tenu (1.3)(2.1/2.5)3.2

Intransitive 2SG forms have two variants, either with a lengthened vowel or with the -je
suffix. In |-t| roots, we find geminated |tsts| in imperative singular forms instead of
expected *ts;j.

Table 18: Deriving imperative stems from intransitive verb roots

Imperative [k"ot| |b"ur] Stem id., affixes Rules

2s Kotsts-e,  (mu)bar-je, T(W)-je (12) (2.1/2.5) 3.1
k"aits-e (mu)b"gr-e =(w,l)-e

2D k"ets-ije (mu)b"ur-ije X(w)-ije (1.2) (2.1/2.5)

2P k"es-nuje  (mu)b"ur-nuje >(w,p)-nuje (1.3) (2.1/2.5)

Almost all intransitive CVC root verbs can be conjugated using the paradigms of Tables
16-18. The only exceptions are |Cak| intransitive roots, which present two conjugations.

The first conjugation is quite irregular, in that it includes forms apparently influenced
by |Ce| intransitive verbs. It only applies to the verb |bhak| ‘go (honorific)’ and |dak]
‘want’, a defective verb only occuring in third person forms. The paradigm is too irregular
to be generated automatically (or it would involve too many ad hoc rules):
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Table 19: Irregular paradigm of |bhak| ‘to go (hon.)’

Person NPST PST IMP
Is b"an-pa, b"arna b"A-pata

11 b"e-ji b"g-jti

IDE b e-ju b"g-jtu

1P1 b"ak-ki bhak-tiki

1PE b"ak-ka b"ak-taka

2s ?i-ba: ?i-bMar-te bhar-je
2D ?2i-be-ji 2i-b"g-jti b"&-ije
2p ?i-b"ar-ni ?i-b"a-tnu b"a-nje
3s bha: b"a:-te

3D b"e-ji b"g-jti

3p b"a-nu b"a-tnu

The second conjugation is more regular, but seems restricted to the verb |dak| ‘to bicker’
(also |d"ak| in the southern dialect), a verb root only occurring in the collocation tsinger
dd:ne ‘to bicker’. This verb presents regular forms for the dual such as 1DI daki, but still
has irregular forms for the 2/3SG.

7. CVC transitive verbs

In the transitive paradigm, stem alternations presented in the intransitive paradigms
in the previous section also occur, but a few additional stems must be added.

The transitive paradigm can be broadly divided into three sections: direct forms
(with a third person patient), inverse forms (3>1, 3>2 and 2>1), and somewhat marginal
1>2 forms. The inverse forms are generally (except for |-ak| roots) identical with the
corresponding intransitive forms, with the addition of the inverse prefix 2i- (thus for
instance the 3s>1S and 2S>1S are identical with 1S intransitive forms except for the
inverse prefix).

Certain direct forms, on the other hand, are quite distinct from intransitive ones. In
this part of the paradigm, the stems are always followed by a suffix. Apart from the weak
stems, strong stems and strong assimilated stems, we must distinguish five additional
stems for some verbs (especially for |-ut| and |-ot| roots). The two verbs [set| ‘to kill” and
[lop| ‘to catch’ illustrate all possible stem alternations.

The non-past direct paradigm includes three stems that have no equivalent in the
intransitive paradigm: the weak voiced back stem X(w,v,b) which undergoes rules 1.1
and 2.6 (for |-o-| and |-u-| verbs), the weak voiced lengthened stem X(w,v,l), which
undergoes rules 1.1, 2.1 and 3.1 (in the first singular) and the weak lengthened stem
2(w,1) which only undergoes rules 2.1 and 3.1 (in the second and third singular). In this

1115



Guillaume Jacques, Aimée Lahaussois, Boyd Michailovsky, and Dhan Bahadur Rai

last stem the falling tone is phonetic; as mentioned in §2, there are no tonal constrasts in
obstruent-final syllables.

Table 20: Deriving non-past stems (direct forms) from transitive verb root

Non-past set] “to kill’ [lop| ‘to catch’ Stem id., affixes Rules

1s>3s sed-u lob-u X(w,v,b)-u (1.1)2.6

1s>3D sed-usu lob-usu ¥(w,v,b)-usu (1.1)2.6

1s>3p sed-unu lob-unu X(w,v,b)-unu (1.1)2.6

1pr>3 sets-i lep-i X(w)-i 1.2)21

1DE>3 sets-u lep-u Z(w)-u 1.2)21

1pr>3 sec-ki loop-ki (s, 1p)-ki (1.4) (2.32.4)
1PE>3 sec-ka loop-ka (s, 1p)-ka (1.4) (2.3/2.4)
28>38 ?i-sé:d-u ?i-16:b-v H-Z(w,v,1)-u 1.12.13.1
28>3D ?i-séit-su ?i-18:p-su 21-X(w,1)-su 2.1(3.1/3.2)
28>3p ?i-sé&:it-nu ?i-18:p-nu 2i-X(w,1)-nu 2.1(3.1/3.2)
2D>3 ?i-sets-i ?i-lep-i i-X(W)-i 1.2)2.1

2p>3 ?i-sén-ni ?i-lodm-ni ?i-X(s,a)-ni 8222;1 VLI
3s>3 sé:d-u 16:b-v (w,v,])-a (1.1)2.13.1
3D>3 séit-su 16:p-su Z(w,l)-su 2.1(3.1/3.2)
3p>3 sé&it-nu 16:p-nu X(w,])-nu 2.1(3.1/3.2)

In the past direct paradigm, |Cvt| roots have two additional stems: the weak past back
assimilated stem X(w,p,b,a), which undergoes 1.8 and 2.6 (in first singular), and the
weak past assimilated stem X(w,p,a), which undergoes either 1.8, 3.1, or 3.2 depending
on the final consonant.

As with intransitive verbs, the 1S>3.PST, 1DI>3.PST and 1DE>3 suffixes have two
distinct allomorphs -uta, -iti, -utu and -ta, -ti, -tu, the latter restricted to |Cvt| roots and
the former appearing with all other root types.

Table 21: Deriving past stems (direct forms) from transitive verb roots

Past |set]| [lop| Stem id., affixes Rules

1s>3s sé:-ta lob-uta X(w,p,b,a)-(u)ta (1.1/1.8) 2.6
1s>3D sé:-tAasu lob-utasu ¥(w,p,b,a)-(u)tasu (1.1/1.8) 2.6
1s>3p sé:-tanu lob-utanu X(w,p,b,a)-(u)tanu (1.1/1.8) 2.6
1D>3 ses-ti lep-iti X(w)-()ti (1.3) (2.172.5)
1DE>3 ses-tu lep-utu 2(w)-(w)tu (1.3) (2.1/2.5)
1pr>3 sec-tiki loop-tiki (s, 1p)-tiki (1.4) (2.3/2.4)
1PE>3 sec-taka loop-taka (s, 1p)-taka (1.4) (2.3/2.4)
28>3s ?i-sé:i-te ?i-16:p-te ?i-X(w,p,a)-te (1.8/3.1/3.2) 2.1
28>3D ?i-s€:-tesu ?i-16:p-tesu ?i-2(w,p,a)-tesu (1.8/3.1/3.2)
28>3p ?i-sé:-tenu ?i-16:p-tenu ?i-X(w,p,a)-tenu (1.8/3.1/3.2)
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2D>3 ?i-ses-ti ?i-lep-iti 2i-2(w)-(i)ti (1.3) (2.1/2.5)
2p>3 ?i-ses-tenu ?i-lep-tenu ?i-X(w)-tenu (1.3)2.1

3s>3 sé:-te 16:p-te X(W,p,a)-te (1.8/3.1/3.2) 2.1
3D>3 sé:-tesu 16:p-tesu X(w,p,a)-tesu (1.8/3.1/3.2) 2.1
3p>3 s€:-tenu 16:p-tenu X(w,p,a)-tenu (1.8/3.1/3.2) 2.1

Only |ot| and |ut| root verbs have distinct X(w,p,b,a) and X(w,p,a) stems. For example,
|fot| ‘to bring’ has 1S>3.PST fig:-ta and 3S>3.PST fié:-te. Note that |aC| transitives have
one particularity: rule 2.5, unlike 2.1, does not apply in the 2P>3.PST form. Thus the root
|sak| ‘to choose’ has 1S>3.PST saguta, but 2P>3.PST Zisaktenu not *?isaktenu as would
be expected if rule 2.5 operated in the same environments as 2.1.

The realization of the forms of all ten stems can be predicted by applying the rules,
but the full list of all stems for each root type is indicated in the appendix for reference.

The inverse forms, as mentioned above, are quite similar to the intransitive ones:

Table 22: Deriving non-past stems (inverse forms) from transitive verb roots

Non-past  [set| [lop| Stem id., affixes Rules

3/2s>18 ?i-s&j-na ?i-lodm-pna ?1-Z(s)-na (1.5/1.7/1.10/1.11) 2.3
3/2D>1s  ?i-s&j-pasu ?i-lodm-gasu ?i-X(s)-nasu i-lodm-pa

3/2p>18 ?i-s&j-gpanu ?i-lodm-ganu ?i-X(s)-panu i-lodm-na

3/2>1DI1 ?i-sets-i ?i-lep-i 1-Z(w)-i (1.2) (2.1/2.5)

3/2>1DE  ?i-sets-u ?i-lep-u ?i-2(w)-u (1.2) (2.172.5)

3/2>1p1 ?i-se¢-ki ?i-loop-ki ?i-X(s)-ki (1.4) 2.3

3/2>1PE ?i-seg-ka ?i-loop-ka ?i-X(s)-ka (1.4) 23

3>2s ?i-s&j ?i-lo5p 21-Z(s) (1.7/1.9/1.10) (2.3/2.4) (3.3)
3>2D ?i-sets-i ?i-lep-i 1-Z(w)-i (1.2) (2.1/2.5)

3>2p ?i-sén-ni ?i-lodm-ni ?i-X(s,a)-ni (1.5/1.6/1.7/1.10/1.11) (2.3/2.4)

In the past paradigm, rule 2.5 does not apply in the 3>2s and 3>2p forms of |aC| stem
verbs, so that for the root |sak| ‘to choose’ one finds 3>2S.PST ?isakte instead of {7isakte,
which would be expected if the context of rule 2.5 had been the same as for rule 2.1.

Table 23: Deriving past stems (inverse forms) from transitive verb roots

Past |set]| [lop| Stem id., affixes Rules
3/28>1s ?i-ses-ta ?i-lep-aAta -2(w,p)-(A)ta (1.3) (2.172.5)
3/2D>1s ?i-ses-tasu  ?i-lep-Atasu 21-Z(W,p)-(A)tasu (1.3)

3/2p>1s ?i-ses-tanu  ?i-lep-Atanu 21-Z(W,p)-(A)tanu (1.3)

3/2>1D1 ?i-ses-ti ?i-lep-iti 1-Z(w,p)-(iti (1.3) (2.12.5)
3/2>1DE ?i-ses-tu ?i-lep-utu 1-Z(w,p)-(wtu (1.3) (2.12.5)
3/2>1p1 ?i-seg-tiki ?i-loop-tiki 21-X(s)-tiki (1.4) 23
3/2>1PE ?i-sec-taka  ?i-loop-taka 2i-2(s)-taka (14) 23
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3>2s, ID/PE>2S  ?i-ses-te ?i-lep-te 21-Z(W,p)-te (1.3)2.1(3.2)
3>2D, ID/PE>2D ?i-ses-ti ?i-lep-iti 1-X(w,p)-(iti (1.3) (2.1/2.5) 3.2)
3>2p, ID/PE>2P ?i-ses-tenu  ?i-lep-tenu ?1-X(W,p)-tenu (1.3)2.1(3.2)

Notice that 3/2>1D1, 3>2D and 2D>3 are always identical. The same is true of 2P>3 and

3>2P.

The 1S>2 forms present a special X(s,a) for |-k| and |-y final roots (here |fun| ‘to
wait’ and |phrok| ‘to untie’) due to rule 1.16.

Table 24: Deriving stems of 1>2 forms from transitive verb roots

NP [set| [lop| |p"rok| |fug| Stemid.,  Rules
‘tokill” ‘tocatch’ ‘to untie’ ‘to wait for’ affixes

1s>2s sén-ne  lodm-ne pPhro:-ne Ati:-ne ¥(s,a)-ne  (1.5/1.6/1.7/1.10/1.11)
(2.3/24)322

1s>2D sén-su  lodm-su p'ron-su flin-su Y(s,a)-su  (1.5/1.6/1.7/1.10/1.11/1.16)
(2.32.4)3.2

1s>2p sén-nu  lodm-nu  phrén-nu Aln-nu ¥(s,a)-nu  (1.5/1.6/1.7/1.10/1.11/1.16)
(2.324)3.2

Past Stem Rules

1s>2s sén-teni  lodm-teni  pPron-teni  Alin-teni X(s,a)-teni  (1.5/1.6/1.7/1.10/1.11/1.16)

1s>2D sén-tensu lodm-tensu phron-tensu  fitin-tensu

1s>2p sén-tennu lodm-tennu prén-tennu  fdin-tennu

(2.3/2.4)

X(s,a)-tensu (1.5/1.6/1.7/1.10/1.11/1.16)

(2.3/2.4)

X(s,a)-tennu (1.5/1.6/1.7/1.10/1.11/1.16)

(2.3/2.4)

In the 18>2D/P non-past forms, |-p| final and |-m| final roots have the same forms due to
the addition of the falling tone to all sonorant-final forms (rule 3.2). Thus, while the
1SG>2SG forms lodmne (from [lom| ‘to look for’) and loSmne (from |lop| ‘to catch’) are
distinct, their 1SG>2DU and 1SG>2PL non-past forms /om-su and lo5m-nu are identical.
This is the only case of homonymy in the entire paradigm between these two classes.
The imperative forms are the following:

Table 25: Imperative forms for |set| ‘to kill’, and |lop| ‘to catch’

3s 3D 3p
23 s€d-e |
2D sets-ije
2p ses-nuje
1s IDE 1PE
28 sets-Aje sets-uje sec-kaje
2D sets-asuje
2p sets-antje
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3s 3D 3p
2s 18:b-¢
2D lep-ije
2p lep-nuje
Is 1DE 1PE
23 lep-aje lep-uje loop-kaje
2D lep-Asuje
2p lep-Anuje

Table 26: Rules and stems for transitive imperatives

Imperative Stem Rules

2s>3 2(w,v,1)-e 1.12.13.1
2>3(D) X(w)-ije (1.2) (2.172.5)
2>3(P) 2(w,p)-nuje (2.1/2.5)
2s>1s X(w)-aje (1.2) (2.172.5)
2D>18 X(w)-asuje (1.2) (2.1/2.5)
2p>1S Y(w)-anuje (1.2) (2.1/2.5)
2>1D X(w)-uje (1.2) (2.172.5)
2>1p >(s,1P)-kaje (14) 23

8. CVCt transitive verbs

|CVCt| verbs have a conjugation that differs from both regular transitive and
intransitives. The context of application of the rules presented above is slightly different
in |CVCt| root verbs.

The weak stem only occurs in 1D/2D forms, and it is characterized by loss of the
postfinal |-t| (rule 1.12), so that in these forms |CVCt| verbs are identical to the equiva-
lent |[CVC]| transitive and intransitive forms. Thus k”esti is both the 1DI/3D.PST of the
intransitive |kPot| ‘to go’ and the 1DI.PST of |kPott| ‘to bring’.

Due to a different context of application of the rules 2.3 and 2.4, the strong stem
appears in all forms except the dual and 2P>3.PST. However, four strong stems must be
distinguished: the reduced strong stem X(s,r) in 1P, which undergoes the loss of the
postfinal |-t| (1.13) but not most assimilatory changes; the plain strong stem X(s), which
is the only one preserving the reconstructed postfinal |-t|; the assimilated strong stem
2(s,a). Only in the infinitive and 2P>3.NPST; and the falling tone strong stem X(s,f),
which only differs from X(s,r) by the failure to apply 1.4 and 1.9 and by the falling tone
(rule 3.2).

We exemplify the |CVCt| paradigms with the two verbs |mimt| ‘to remember’ and
|sent| “to look at’.
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Table 27: Deriving non-past stems (direct forms) from CVCt transitive roots

Non-past |mimt| |sent]| Stem id., affixes Rules

‘to remember’ ‘to look at’
1s>3s mAmd-u sénd-u 2(s)-u (2.312.4)
1s>3D mAmd-usu sénd-usu %(s)-usu (2.312.4)
1s>3p mAmd-unu sénd-unu 2(s)-unu (2.3/2.4)
1pr>3 mim-i seits-i X(w)-i (1.2) (2.1/2.5) 1.12
1DE>3 mim-u séits-u 2(w)-u (1.2) (2.1/2.5) 1.12
1pr>3 mAm-ki s&j-ki >(s,r)-ki (1.4/1.9) (2.32.4)1.13
1PE>3 mAm-ka s&j-ka %(s,r)-ka (1.4/1.9) (2.3/2.4)1.13
28>38 ?i-mAmd-# ?i-sénd-u 1-X(s)-u (2.312.4)
28>3D i-mAm-su ?i-sén-su 21-X(s,)-su (2.3/24)1.133.2
28>3p ?i-mAm-nu ?i-sén-nu 21-X(s,f)-nu (2.3/24)1.133.2
2D>3 ?i-mim-i ?i-s&:ts-i 1-Z(W)-i (1.2) (2.1/2.5) 1.12
2p>3 ?i-mAm-ni ?i-s&j-ni ?i-X(s,a)-ni (1.5/1.6/1.7/1.9/1.10/1.11)

(2.3/2.4) 1.13

3s>3 mAmd-a sénd-v 2(s)-u (2.312.4)
3p>3 mAm-su sén-su 2(s,f)-su (2.3/24)1.133.2
3p>3 mAm-nu sén-nu >(s,f)-nu (2.3/24)1.133.2

Table 28: Deriving past stems (direct forms) from CVCt transitive roots

Past |mimt]| |sent]| Stem id., affixes Rules

1s>3s  mAm-ta sén-ta 2(s)-ta (2.324) 32 1.13
1s>3D mAm-tasu sén-tAsu 2(s)-tasu (2.324) 32 1.13
1s>3Pp  mAm-tanu sén-tAnu 2(s)-tanu (2.324) 32 1.13
ID>3  mim-iti seis-ti X(w,p)-iti (1.3) (2.172.5) 1.12

1DE>3 mim-utu s€:s-tu X(w,p)-utu (1.3) (2.1/2.5) 1.12

1p>3  mAm-tiki s&j-tiki X(s,r)-tiki (1.4/1.9) (2.324) 1.13
1PE>3  mAm-taka s&j-taka X(s,r)-taka (1.4/1.9) (2.324) 1.13
2s>3s  ?i-mAm-te ?i-sén-te 2i-2(s,f)-te (2.3/24)32 1.13

2s>3D  ?i-mAm-tesu ?i-sén-tesu 2i-2(s,f)-tesu (2.3/24)32 1.13

2s>3P  ?i-mAm-tenu ?i-sén-tenu 2i-2(s,f)-tenu (2.3/24)32 1.13

2D>3  Pi-mim-iti i-s&is-ti 1-X(w,p)-()ti (1.2) (2.12.5) 1.12
2p>3  ?i-mim-tenu ?i-s€:s-tenu ?i-X(w,p)-tenu (1.2) (2.12.5) 1.13

3s>3  mAm-te sén-te X(s,f)-te (2.32.4)32 1.13

3D>3  mAm-tesu sén-tesu (s,f)-tesu (2.3/24)32 1.13

3p>3  mAm-tenu sén-tenu 3(s,f)-tenu (2.3/24)3.2 1.13

The inverse, 1>2 and imperative forms are identical to those of corresponding CVC
verbs; |CVnt| roots, however, have special forms due to the absence of transitive |Cvn|
roots, in particular concerning the application of rule 1.9:
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Table 29: Deriving non-past stems (inverse forms) for CVCt transitive roots

Non-past  |mimt| sent] Stem id., affixes Rules

3/28>1s ?i-mAm-pA ?i-s&j-pA 21-Z(s)-na (1.5/1.7/1.9/1.10/1.11) 2.3 1.12
3/2D>1s ?i-mAm-pAsu ?i-s&j-pasu 21-Z(s)-pasu (1.5/1.7/1.9/1.10/1.11) 2.3 1.12
3/2p>1s ?i-mAm-pganu ?i-s&j-nanu ?1-Z(s)-ganu (1.5/1.7/1.9/1.10/1.11) 2.3 1.12
3/2>1D1 ?i-mim-i ?i-seits-i 1-Z(W)-i (1.2) (2.12.5) 1.12

3/2>1DE ?i-mim-u ?i-seits-u 21-Z(W)-u (1.2) (2.12.5) 1.12

3/2>1p1 ?i-mAm-ki ?i-s&j-ki 1-X(s)-ki (1.4/1.9) 231.12

3/2>1PE ?i-mam-ka ?i-s&j-ka 21-X(s)-ka (1.4/1.9) 231.12

3>2s ?i-mAm ?i-sgj 21-X(s) (1.7/1.9/1.10) 2.3 (3.3) 1.12
3>2D ?i-mim-i ?i-seits-i 1-Z(W)-i (1.2) (2.12.5) 1.12

3>2p ?i-mAm-ni ?i-s&j-ni 21-X(s)-ni (1.5/1.6/1.7/1.9/1.10/1.11)

(2.3/2.4) 1.12

Table 30: Deriving past stems (inverse forms) for CVCt transitive roots

Past |mimt| |sent]| Stem id., affixes Rules

3/28>1s ?i-mim-ata ?i-s€:s-ta H-2(w)-(A)ta (1.2) (2.1/2.5) 1.12
3/2D>1s ?i-mim-Atasu ?i-s€:s-tasu 2i-2(w)-(A)tasu (1.2) (2.1/2.5) 1.12
3/2p>1s ?i-mim-Atanu ?i-s€:s-tanu 21-2(w)-(A)tanu (1.2) (2.1/2.5) 1.12
3/2>1DI1 ?2i-mim-iti ?i-s€:s-ti 21-X(w)-(i)ti (1.2) (2.172.5) 1.12
3/2>1DE ?i-mim-utu ?i-s€:s-tu 2-2(w)-(u)tu (1.2) (2.1/2.5) 1.12
3/2>1p1 ?i-mAm-tiki ?i-s¢j-tiki 21-X(s)-tiki (14/19) 231.12
3/2>1PE ?i-mAm-taka ?i-s¢j-taka ?2i-X(s)-taka (14/19) 231.12
3>2s ?i-mim-te ?i-s€:s-te -X(w)-te (1.2) (2.1/2.5)3.2 1.12
3>2D ?i-mim-iti ?i-s€:s-ti 21-X(w)-(i)ti (1.2) (2.172.5) 1.12
3>2p ?i-mim-tenu ?i-s€:s-tenu ?i-X(w)-tenu (1.2) (2.1/2.5) 1.12

The 1>2 forms of |nd| verbs are the following, with a special strong assimilated falling
tone stem X(s,a,f):

Table 31: Stems for 1>2 forms for CVCt transitive roots

Non-past |sent]| Stem id., affixes Rules

1s>2s s€j-ne X(s,a)-ne (1.5/1.6/1.7/1.10/1.11) (2.3/2.4) 3.2 1.13

1s>2D sej-su X(s,a,f)-su (1.5/1.6/1.7/1.9/1.10/1.11/1.16) (2.3/2.4) 3.2 1.13
1s>2p s&j-nu 2(s,a,f)-nu (1.5/1.6/1.7/1.9/1.10/1.11/1.16) (2.3/2.4) 3.2 1.13
Past

1s>2s s&j-teni X(s,a)-teni (1.5/1.6/1.7/1.9/1.10/1.11/1.16) (2.3/2.4) 1.13
1s>2D sej-tensu  X(s,a,f)-tensu (1.5/1.6/1.7/1.9/1.10/1.11/1.16) (2.3/2.4) 1.13
1s>2p sej-tennu  X(s,a,f)-tennu (1.5/1.6/1.7/1.9/1.10/1.11/1.16) (2.3/2.4) 1.13

Imperatives of |nd| roots are as follows:
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Table 32: Imperative forms for imperatives of CVCt transitive roots

33 3D 3p
2s sénd-e |
2D seits-ije
2p seis-nuje
Is 1DE 1PE
23 s€its-aje s€its-uje s&j-kaje
2D s€its-Asuje
2p s€its-Anuje
Table 33: Rules and stems for CVCt transitive roots
IMP Stem id., affixes Rules
2s>3 2(w,v,1)-e 1.12.13.1
2>3.D X(w)-ije (1.2) (2.12.5) 1.12
2>3.p Y(w,p)-nuje (2.1/2.5) 1.12
2s>1s X(w)-aje (1.2) (2.12.5) 1.12
2D>18 X(w)-asuje (1.2) (2.1/2.5) 1.12
2p>1s Y(w)-Anuje (1.2) (2.12.5) 1.12
2>1D X(w)-uje (1.2) (2.12.5) 1.12
2>1p >(s,1P)-kaje (1.4/1.9) 231.12

9. Open root verbs

Stem alternations in open roots are quite different from those in consonant-final
roots. There are no weak vs. strong stems, and most of the rules stated above (except 2.1
and 2.2, both fronting rules) do not apply. Instead, a past lengthened stem is found in
past 28 and 3S of intransitive verbs. All other intransitive and transitive forms present

the basic stem, except for transitive |a| roots, whose paradigm is more complex.

The suffixes used with open-syllable roots are also slightly different: dual suffixes
-ji and -ju, past dual exclusive -itu (instead of -utu), past 1S -pata (instead of -ata), past
1P with an additional -k- (-ktiki instead of -tiki) and past 2/3P -tnu (instead of -tenu).

Rules 2.1 and 2.2 apply to the basic stem (so that |a, |o|, and |u| appear as €, e and &

respectively), but not to the lengthened stem:
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Table 34: Stems for intransitive open root verbs, by root vowel

Non-past |Ca| |Ce] |Ci |Co| |Cu|

Meaning  to burn to say tocome  to come to be late Stem id.,
to ripen affixes

Is g"re-na dze-na pi-na fie-na ts"w-nA -nA

1pI g're-ji dze-ji pi-ji fie-ji ts"ua-ji i

IDE g're-ju dze-ju pi-ju fie-ju tsa-ju T-ju

1p1 g're-ki dze-ki pi-ki fie-ki ts"a-ki ki

1PE g"re-ka dze-ka pi-ka fie-ka ts"a-ka T-ka

2s 2i-g"re ?i-dze ?i-pi ?i-fie 2i-ts"w ?i-X

2D 2i-g"re-ji ?i-dze-ji ?i-pi-ji ?i-fio-ji i-ts"u-ji i-Z-ji

2p ?i-g"re-ni ?i-dze-ni ?i-pi-ni  ?i-fe-ni i-ts"w-ni ?i-X-ni

3s g're dze pi fie ts"a z

3D g're-ji dze-ji pi-ji fie-ji ts"a-ji i

3p g're-nu dze-nu pi-nu fie-nu ts"g-nu T-nu

Past

1s ghrs-letA dze-nata pi-nata fe-pata tshu-letA Z-gata

DI g"ré-jti dzé-jti pi-iti fié-jti ts"a-jti T-iti

IDE g'ré-jtu dzé-jtu pi-itu fie-jtu tsPg-jtu T-itu

1p1 g"re-ktiki dze-ktiki pi-ktiki  fé-ktiki ts"a-ktiki 2-ktiki

1PE g're-ktaka  dze-ktaka  pi-ktaka  fe-ktaka  ts"a-ktaka 2-ktaka

2s 2i-g"rar-te ?i-dze:-te ?i-pli-te  Pi-Ad:-te i-ts"{fi-te 2i-X(1)-te

2D 2i-g"ré-jti ?i-dzé-jti Pi-pl-iti  Pi-Aé-jti i-ts"-jti i-X-iti

2p ?i-g"ra-tnu ?i-dze-tnu  Qi-pu-tnu  ?i-fo-tnu  ?i-ts"u-tnu ?i-X(1)-tnu

3s g'ra-te dze:-te pi:-te fio:-te ts"ii-te (1)-te

3D ghré-jti dzé-jti pi-jti fié-jti tsPg-jti T-iti

3p g"ra-tnu dze-tnu putnu fio-tnu tsPu-tnu 2(1)-tnu

The examples of intransitive |a| roots encountered so far are all impersonal and thus
have a defective conjugation (mi ghre ‘the fire burns’). In forms other than the third
person singular, |ghra| is conjugated only in the serial construction |me gre| ‘to vomit
terribly’, for instance mopata g'repata ‘1 vomited terribly’.

The imperative singular and plural have the same vowel as the 2S/3S forms:

Table 35: Imperative stems for open root verbs

23 dze:-je pli-je 2(1)-je
2D dzé-jje pi-jje Z-jje
2p dz&-nje pli-nje >(1)-nje

A number of open syllable root verbs have irregularities, with idiosyncratic vowel
alternations.
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Table 36: Idiosyncracies in stems of some open root verbs

Non-past  |Ce] |Cu] |Cy|

Meaning  to come down to feel to be

Is je-pa la-na mu-gA 2(b)-na
1DI je-ji la-ji mu-ji ZAji

IDE je-ju la-ju mu-ju Z-ju

1p1 je-ki la-ki mu-ki 2(b)-ki
1PE je-ka la-ka mu-ka 2(b)-ka
28 ?i-je -l ?i-mu 7i-2%(b)
2D Pi-je-ji Pi-lu-ji Pi-mu-ji 2i-Z-ji
2p ?i-je-ni ?i-la-ni ?i-mu-ni ?i-X-ni
3s je la mu 2(b)

3D je-ji la-ji mu-ji 2-ji

3p je-nu la-nu mu-nu 2(b)-nu
Past

IN je-nata la-pata mu-nata 2(b)-pata
1DI je-jti 18-jti mi-jti T-iti

IDE jé-jtu l&-jtu mé-jtu -itu

1pP1 je-ktiki lu-ktiki mu-ktiki 2(b)-ktiki
1PE je-ktaka la-ktaka mu-ktaka 2(b)-ktaka
23 ?i-jai-te ?i-10:-te ?i-mo:-te ?1-2(1)-te
2D 2i-jé-jti Pi-1a-jti 2i-md-jti 2i-Z-iti
2p ?i-ja-tnu ?i-lo-tnu ?i-mo-tnu ?i-2(1)-tnu
3s jar-te 10:-te mo:-te 2(D)-te

3D je-jti 18-jti mi-jti T-iti

3p ja-tnu lo-tnu mo-tnu 2()-tnu

The irregular /e/~/a/ alternation in the paradigm of [je| ‘to come down’ might be
due historically to the presence of initial /j/ (as in the case of the verb [jal| ‘to strike’).
The root |mu| ‘to be’ is unique in having a back vowel stem mu that appears in non-dual
forms (except where the past lengthened stem appears).

Note that the imperative of ‘come down’ has the regular lengthened stem of |e|
roots, different from the lengthened past stem.

Table 37: Imperative forms of verbs with roots |je| and |Iu]

2s je-je (mu)lo:-je 2(D)-je
2D jé-jje (mu)lé-jje -jje
2p jé-nje (mu)lo-nje >()-nje

This appears to be the only verb in the language whose imperative stem is distinct from
the second person past form.
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Transitive open roots have the same set of affixes except for the 1SG>3 past (-zta
instead of -7ata) and 3>3(D). The pattern of stem alternations is slightly different,
especially for |-a| roots, which have complex alternations:

Table 38: Stems for transitive open root verbs, by root vowel

Non-past  |dza] k"] Ini |t"o|

Meaning to eat to steal to hear to see

1s>3 dza-na k"e-na ni-na t"e-na 2(1SG.NPST)-pa
1pr>3 dze-ji kPe-ji pi-ji t"e-ji i

1DE>3 dze-ju k"e-ju ni-ju t"e-ju T-ju

1p>3 dze-ki kPe-ki pi-ki t"e-ki ki

1PE>3 dze-ka k"e-ka ni-ka t"e-ka T-ka

25>3 Qi-dze ?i-kPe i-ni ?i-the 2i-X(2/3.NPST)
2D>3 ?i-dze-ji ?i-kPe-ji i-ni-ji 2i-t"e-ji i-Z-ji

2p>3 %i-dze-ni  ?i-k"e-ni ?i-ni-ni ?i-t"e-ni ?i-X-ni

3s>3 dze k"e ni t"e >(2/3.NPST)
3D>3 dze-su k"e-su pi-su the-su >(2/3.NPST)-su
3p>3 dze-nu k"e-nu ni-nu t"e-nu >(2/3.NPST)-nu
Past

1s>3 dzfi-nta k"é-nta ni-nta t"8-nta Z(1SG.PST)-nta
1p1>3 dzé-jti kPe-jti ni-iti t"8-jti T-iti

1DE>3 dzé-jtu k"é-jtu ni-itu t"8-jtu T-itu

1p>3 dze-ktiki  k"e-ktiki ni-ktiki t"e-ktiki >-ktiki

1PE>3 dze-ktaka  k"e-ktaka  pi-ktaka  t"e-ktaka T-ktaka

28>3 fi-dza-te  ?Pi-kPe-te i-ni-te ?i-tPe-te 2i-2(2/3.PST)-te
2D>3 2i-dzé-jti  i-k"é-jti i-ni-jti 2i-t"-jti i-X-iti

2p>3 %i-dzo-tnu  ?i-kPe-tnu Ri-nu-tnu  ?i-t"o-tnu ?i-X(shortened)-tnu
3s>3 dzu-te ke-te ni-te the-te 2(2/3.PST)-te
3p>3 dza-ssu kle-ssu pi-ssu the-ssu ¥(2/3.PST)-ssu
3p>3 dzu-tnu k"e-tnu pi-tnu the-tnu 2(2/3.PST)-tnu
35>2s Ri-dzoi-te X Ri-nli-te  ?i-t"oi-te 2i-2(1)-te

The lengthened stem only appears in 2PL>3 past and 3SG>2 past forms. The 3SG>3.PST
in particular has a short vowel, a difference with intransitive verbs that allows us to

distinguish between these two verb categories (since the 1S.NPST has -pa for both
transitive and intransitive).

For |-a] roots, no less than seven different vowels appear in the paradigm:
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Table 39: Distribution of stems for transitive roots

name form distribution

basic Ce 1D/2D, 1P, 2P NPST
1SG.NPST Ca 1SG>3 NPST

2/3.NPST Ce 2SG>3 NPST, 3SG>3 NPST
1SG.PST Cu 1SG>3 PST

2/3.PST Cu 2SG>3 PST, 3>3 PST
lengthened Co: 3SG>2SG PST

shortened Co 2PL>3 PST

The imperative of transitive verbs has the lengthened stem only in the plural. The 2/3.PST
stem is found in the singular form:

Table 40: Shortened stem in plural imperative

2s dzu-je 2(2/3.psT)-je
2D dzé-jje 2-jje
2p dzo-nje X(shortened)-nje

These are the same stem forms as those found in second person past, with a different
suffix. Note that the 2>1 imperative suffix of open-syllabe transitive roots is -zaje
instead of -aje with the weak stem: bi-yaje ‘give it to me’. Open-syllable roots and -y
final roots have the same imperative 2>1 (as well as 2/3>18).

Table 41: Inverse imperative forms for open root verbs

Is 1DE 1PE
2s pi-paje pi-ije pi-kaje
2D pi-nasuje
2p pi-nganuje

The inverse forms can be predicted from the above paradigms, but the 1S>2 forms present

idiosyncrasies:
Table 42: 1>2 forms for open root verbs
Non-past |sent| ‘to look at’ Stems
1s>2s ke-ne ¥(A)-ne
1s>2D ké-nsu 2(A)-nsu
1s>2p ké-nnu ¥(A)-nnu
Past
1s>2s ké-nteni ¥(A)-nteni
1s>2D ké-ntensu >(A)-ntensu
1s>2p ké-ntennu >(A)-ntennu
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An additional -n- appears in all forms but the 15>2s.
|mu| ‘to do’, which merges |Cu| root forms with |Ca| root forms), is the only
irregular transitive verb:

Table 43: Irregular transitive open root verb

Non-past |mu| ‘to do’

Is mA-jA 2(1SG.NPST)-pA
1DI mu-ji X-ji

IDE mu-ju 2-ju

1pI mu-ki >-ki

1PE mu-ka 2-ka

23 ?i-me 21-X(2/3.NPST)
2D ?i-mu-ji 1-Z-ji

2p ?i-mu-ni ?i-X-ni

33 me %(2/3.NPST)

3D me-su >(2/3.NPST)-su
3p me-nu %(2/3.NPST)-nu
Past

1s mi-nta 2(18G.PST)-nta
1DI mé-jti -iti

IDE mé-jtu -itu

1P1 mu-ktiki -ktiki

1PE ma-ktaka >-ktaka

2s Pi-mu-te 2i-X(2/3.PST)-te
2D 2i-mi-jti 2i-Z-iti

2p ?i-mo-tnu ?i-Z(shortened)-tnu
3s mu-te (2/3.pST)-te
3D mu-ssu %(2/3.PST)-ssu
3p mu-tnu >(2/3.pST)-tnu

For open verb roots, it is always necessary to have the 1S.NPST and the 3S.PST forms.
The 1S.PST makes it possible to determine the root class and the transitivity, but in the
case of intransitive verbs, this form is homophonous with the equivalent form for |CVy|
roots. Thus, mepata is the 1S.PST form of both |mo| ‘to vomit’ and |moy| ‘to dream’.

10. Conclusion

The present paper provides a comprehensive description of Khaling verbal stem
alternations and of the structure of the transitive and intransitive paradigms.

Explaining these paradigms however will require a systematic comparison with
Dumi and Koyi. Many non-trivial alternations, such as that between -j/-ts/-s (in verbs

1127



Guillaume Jacques, Aimée Lahaussois, Boyd Michailovsky, and Dhan Bahadur Rai

such as ‘to go’ IS.NP k"o3j-pa, 1DLNPST k’ets-i, IDLPST k’es-ti) are shared between
Khaling, Dumi, Koyi, and perhaps other Kiranti languages, and should be reconstructed
back to their common ancestor.

Although most alternations in Khaling seem to be relatively recent, due to the loss
of final consonants or to the application of accentual rules (especially for the lengthening
rule 3.1), it is conceivable some of the vowel alternations observed in the Khaling
paradigms are not recent, but constitute archaisms."

This paper describes only part of the Khaling verbal system. The negative and
reflexive paradigms have not been treated, and the system of auxiliaries, whose
conjugations are highly irregular, will be described in future publications.
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Appendix
Table 1: Intransitive verb ghre ‘burn’ Table 4: Intransitive verb dzhem ‘disappear’
non-past past imperative non-past past imperative
Is ghrena ghrepata Is dzhemna  |dzhemata
DI ghreji ghréiti DI dzhemi dzhemiti
1DE ghreju ghréitu 1DE dzhemu dzhemutu
1p1 ghreki ghrektiki 1p1 dzhemki dzhemtiki
1PE ghreka ghrektaka 1PE dzhemka  |dzhemtaka
2s Yighre Pighra:te ghrazje 2s ?idzhem ?idzhémte  |dzhémje
2D Pighreji Pighréiti ghréije 2D ?idzhemi  |?idzhemiti  |dzhemije
2N ?ighreni ?ighratnu  |ghranje 2N ?idzhemni |?idzhemtenu |dzhemnuje
3s ghre ghra:te 3s dzhem dzhémte
3D ghreji ghréiti 3D dzhemi dzhemiti
3N ghrenu ghratnu 3N dzhemnu  |dzhemtenu
Table 2: Intransitive verb dzhep ‘be possible’ Table 5: Intransitive verb yen ‘sit’
non-past past non-past past imperative
3s dzh€p dzhepte 1s DEjnA pestA
11 peitsi peisti
Table 3: Transitive verb et ‘say’ 1DE peitsu peistu
non-past past imperative 1p1 pejki pejtiki
1s Wjna esta IPE pejka pejtaka
1DI1 etsi Qesti 2s ?inej ?ipeiste néitse
1DE etsu 2estu 2D Pinéitsi Pineisti peitsije
1p1 Pecki Pectiki 2N ?inejni Pin€istenu pEisnuje
1PE 2ecka Qectaka 3s 1gj neiste
2 2i?8j Qi%este etstse 3D peitsi neisti
2D i?etsi i?esti etsije 3N pejnu neistenu
2N ?i?€nni ?i?estenu Pesnuje
3s 2%j Qeste Table 6: Intransitive verb ghay ‘agree’
3D Petsi Pesti non-past past imperative
3N &nnu Pestenu 1s ghama ghapata
1DI1 ghani ghaniti
1DE ghanu ghanutu
1p1 ghanki ghantiki
1PE ghagka ghangtaka
2s ?ighang ?ighante ghanje
2D ?ighani ?ighapiti ghanije
2N ?ighamni ?ighapgtenu  |ghannuje
3s ghany ghante
3D ghani ghaniti
3N ghamnu ghagtenu
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Table 7: Intransitive verb gher

Table 9: Transitive verb ka ‘eat’

‘have an insomnia’ non-past |past imperative

non-past past imperative 1s kapa kanta

Is gherpa gherata 1D1 keji kéiti

1D1 gheri gheriti 1DE keju kéitu

1DE gheru gherutu 1p1 keki kektiki

1p1 gherki ghertiki 1PE keka kektaka

1PE gherka ghertaka 2s ?ike Pikute kuje

2s Pigher ?ighérte ghérje 2D ?ikeji ?ikéiti kéije

2D Pigheri ?igheriti gherije 2N ?ikeni ?ikotnu konje

2N ?igherni ?ighertenu  |ghernuje 3s ke kute

3s gher ghérte 3D kesu kutsu

3D gheri gheriti 3N kenu katnu

3N ghernu ghertenu 2/3s>1s ?ikena ?ikenata  |kenaje

2/3D>1s ?ikenasu |?ikenatasu |kepasuje
Table 8: Intransitive verb pel ‘play a trick on’ 2/3p>1s ?ikenanu |?ikenatanu |kepanuje

non-past past imperative 2/3>1DI1 ?ikeji ?ikéiti

1s pelya pelata 2/3>1DE ?ikeju ?ikéitu keije

1D1 peli peliti 2/3>1p1 ?ikeki ?ikektiki

1DE 1]5111 i clutu 2/3>1PE Pikeka Pikektaka kekAj e

1P1 pelki peltiki 3,1D/PE>2S |?ike ?iko:te

1PE pelka peltaka 3,1D/PE>2D |?ikeji ?ikéiti

2s ?inel ?inélte pélje 3,1p/PE>2p |?ikeni ?ikotnu

2D ?ipeli ?ipeliti pelije 1s>2s kene kénteni

2N ?ipelni ?ipeltenu pelnuje 1s>2D kénsu kéntensu

3s pel pélte 1s>2p kénnu kéntennu

3D peli peliti

3N pelnu peltenu
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Table 10: Transitive verb khep ‘be about to’ Table 11: Transitive verb ket ‘bite’
non-past  |past imperative non-past |past imperative
1s>3s khebu khebuta 1s>3s kedu kéita
1s>3D khebusu khebutasu 1s>3D kedusu kéitasu
1s>3p khebunu  |khebutanu 1s>3p kedunu kéitanu
1p>3 khepi khepiti 1p>3 ketsi kesti
1DE>3 khepu kheputu 1DE>3 ketsu kestu
1p1>3 khepki kheptiki 1p1>3 kecki kectiki
1PE>3 khepka kheptaka 1PE>3 kecka kectaka
28>3s ?ikheibu ?ikhéipte  |kheibe 28>3s ?ikedu ?ikéite kexde
2s8>3D ?ikhéipsu  |?ikhéiptesu 2s8>3D ?ikéitsu ?ikéitesu
28>3p ?ikhéipnu  |?ikhéiptenu 28>3p ?ikéitnu  |?ikéitenu
2D>3 ?ikhepi ?ikhepiti  |khepije 2D>3 ?iketsi ?ikesti ketsije
2N>3 ?ikherni  |?ikheptenu |khepnuje 2N>3 ?ikénni ?ikestenu  |kesnuje
3s>3s kheibu khéipte 3s>3s ke:da kéite
3>3(D) khéipsu khéiptesu 3>3(D) kéitsu kéitesu
3>3(p) khéipnu khéiptenu 3>3(p) kéitnu kéitenu
2/38>1s ?ikhémna  |?ikhepata  |khepaje 2/38>1s ?ikéjna ?ikesta ketsaje

2/3p>1s  |?ikhémpasu |?ikhepatasu [khepasuje 2/3D>1s ?ik&jnasu |?ikestasu |ketsasuje
2/3p>1s ?ikhémpanu |?ikhepatanu [khepanuje 2/3p>1s ?ik&jpanu |?ikestanu |ketsanuje

2/3>1DI ?ikhepi ?ikhepiti 2/3>1DI ?iketsi ?ikesti

2/3>1DE  |?ikhepu ?ikheputu  |khepuje 2/3>1DE ?iketsu ?ikestu ketsuje
2/3>1p1 ?ikhepki ?ikheptiki 2/3>1p1 Pikecki Pikectiki

2/3>1pE  |?ikhepka  |?ikheptaka |khepkaje 2/3>1PE Pikecka  |?ikectaka |kegkaje
3,1D/PE>2s |?ikhéip ?ikhepte 3,1D/PE>2S |?ikéj ?ikeste

3,1D/PE>2D | ?ikhepi ?ikhepiti 3,1D/PE>2D |?iketsi ?ikesti

3,1D/PE>2P |?ikhémni  |?ikheptenu 3,1D/PE>2P |?ikénni Pikestenu

1s>2s khémne khémteni 1s>2s kénne kénteni

1s>2D khémsu khémtensu 1s>2D kénsu kéntensu

1s>2p khémnu khémtennu 1s>2p kénnu kéntennu

1133




Guillaume Jacques, Aimée Lahaussois, Boyd Michailovsky, and Dhan Bahadur Rai

Table 12: Transitive verb sak ‘choose’

Table 13: Transitive verb khlem ‘bewitch’

non-past |past imperative non-past  |past imperative
1s>3s SAgU sAguta 1s>3s khlemu khlemuta
1s>3D SAgusu SAgutAsu 1s>3D khlemusu |khlemutasu
1s>3p sAgunu  [sagutanu 1s>3p khlemunu |khlemutanu
1pr>3 saki sakiti 1pr>3 khlemi khlemiti
1DE>3 saku sakutu 1DE>3 khlemu khlemutu
1p1>3 sakki saktiki 1p1>3 khlemki khlemtiki
1PE>3 sakka saktaka 1PE>3 khlemka  |khlemtaka
28>3s Pisa:ga Pisa:kte sa:ge 28>3s ?ikhleéme  |?ikhlémte  |khleime
28>3D ?isd:ksu  |?isdktesu 2s>3D ?ikhlémsu |?ikhlémtesu
28>3p ?isd:knu  |?isdktenu 28>3p ?ikhlémnu |?ikhlémtenu
2D>3 Pisaki Pisakiti sakije 2D>3 ?ikhlemi ?ikhlemiti  |khlemije
2N>3 ?is&mni ?isaktenu  [saknuje 2N>3 ?ikhlemni |?ikhlemtenu [khlemnuje
3s>33 saga satkte 3s>383 khleime khlémte
3>3(D) saksu satktesu 3>3(p) |khlémsu  |khlémtesu
3>3(p) satknu saktenu 3>3(p) khlémnu  |khlémtenu
2/38>1s ?isampa Pisakata  [sakaje 2/3s>1s |?ikhlempa |?ikhlemata |khlemaje
2/3D>1s Pisdigasu  |?isakatasu [sakasuje 2/3D>1s  |?ikhlempasu |?ikhlematasu [khlemasuje
2/3p>1s ?isdipanu  |?isakatanu [sakanuje 2/3p>1s  |?ikhlempanu|?ikhlematanu [khlemanuje
2/3>1DI Pisaki Pisakiti 2/3>1p1  |?ikhlemi ?ikhlemiti
2/3>1DE ?isaku Pisakutu  |sakuje 2/3>1DE |?ikhlemu |?ikhlemutu |khlemuje
2/3>1p1 ?isakki ?isaktiki 2/3>1p1  |?ikhlemki |?ikhlemtiki
2/3>1PE ?isakka  |?isaktaka [sakkaje 2/3>1PE  |?ikhlemka |?ikhlemtaka [khlemkaje
3,1D/PE>2S |?isa: Pisakte 3,1D/PE>2s |?ikhlem ?ikhlémte
3,1D/PE>2D |?isaki Pisakiti 3,1D/PE>2D |?ikhlemi ?ikhlemiti
3,1D/PE>2P |?isd:ni Pisaktenu 3,10/PE>2pP |?ikhlemni |?ikhlemtenu
18>2s8 samne santeni 1s>2s khlemne khlemteni
1s>2D sansu santensu 1s>2D khlémsu  |khlemtensu
1s>2p sannu santennu 1s>2p khlémnu  |khlemtennu
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Table 14: Transitive verb jay Table 16: Transitive verb jal ‘beat’
‘sift, steal little by little’ non-past |past imperative
non-past |past imperative 1s>3s jalu jaluta
1s>3s jagu japguta 1s>3D jalusu jalutasu
1s>3D jAgusu jagutasu 1s>3p jalunu jalutanu
1s>3p jagunu japutanu 1pr>3 jali jaliti
1p1>3 jani jApiti 1DE>3 jalu jalutu
1DE>3 janu jagutu 1p1>3 jalki jaltiki
1p1>3 japki jantiki 1PE>3 jalka jaltaka
1PE>3 janka japtaka 28>3s tijala ijalte jaile
28>3s tijamge Pijante jame 2s>3D ?ijalsu ?ijaltesu
28>3D ?ijagsu ?ijangtesu 28>3p ?ijalnu ?ijaltenu
28>3p ?ijagnu ?ijagtenu 2D>3 ?ijali 1jaliti jalije
2D>3 ?ijani ?1japiti janije 2N>3 ?ijalni ?ijaltenu  |jalnuje
2N>3 ?ijamni ?ijagtenu  |japnuje 3s>383 jala jalte
3s>3s jams jante 3>3(D) jalsu jaltesu
3>3(p)  |jagsu jantesu 3>3(p) jalnu jaltenu
3>3(p) japnu jantenu 2/3s>1s ?ijalpa ?1jalata jalaje
2/3D>1s ?ijalgasu |?ijalatasu |jalasuje
Table 15: Transitive verb wer 2/3p>1s Pijalpanu  |?ijalatanu |jalanuje
‘mind (an objection)’ 2/3>1DI ?ijali ijaliti
non-past |past imperative 2/3>1DE Pijalu Pijalutu jaluje
1s>3s WEru WEruta 2/3>1p1 Pijalki ?Pijaltiki
1s>3D WErusu werutasu 2/3>1PE Pijalka Pijaltaka  |jalkaje
1s>3p werunu werutanu 3,1D/PE>2s |?ijal Pijalte
1p1>3 weri weriti 3,1D/PE>2D |?ijali jaliti
1DE>3 WEru werutu 3,1D/PE>2P |?ijalni ?ijaltenu
1p1>3 werki wertiki 1s>2s jalne jalteni
1PE>3 werka wertaka 1s>2D jalsu jaltensu
28>3s tiweira Piwérte weire 1s>2p jalnu jaltennu
2s>3D ?iwérsu Piwértesu
2s>3p ?iwérnu | ?iwértenu
2D>3 Piweri Piweriti werije
2N>3 ?iwerni ?iwertenu  [wernuje
38>3s weira wérte
3>3(D) |wérsu wértesu
3>3(p) wérnu wértenu
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Table 17: Transitive verb phel ‘damage’

Table 18: Transitive verb phrept ‘scratch’

non-past |past imperative non-past past imperative
1s>3s phelu pheluta 1s>3s phreptu phrepta
1s>3D phelusu phelutasu 1s>3D phreptusu  |phreptasu
1s>3p phelunu  |phelutanu 1s>3p phreptunu  |phreptanu
1pr>3 pheli pheliti 1pr>3 phrepi phrepiti
1DE>3 phelu phelutu 1DE>3 phrepu phreputu
1p1>3 phelki pheltiki 1p1>3 phrepki phreptiki
1PE>3 phelka pheltaka 1PE>3 phrepka phreptaka
2s>3s ?ipheila ?iphélte pheile 2s>3s ?iphrepte  [?iphrepte  |phrepte
2s>3D ?iphélsu  |?iphéltesu 2s>3D ?iphrepsu  |?iphreptesu
2s>3p ?iphélnu  |?iphéltenu 2s>3p ?iphrepnu  |?iphreptenu
2D>3 ?ipheli ?ipheliti phelije 2D>3 ?iphrepi ?iphrepiti  |phrepije
2N>3 ?iphelni ?ipheltenu  |phelnuje 2N>3 ?iphrémni  |?iphreptenu |phrepnuje
3s>3s pheila phélte 3s>3s phrepta phrepte
3>3(D) phélsu phéltesu 3>3(D) |phrepsu phreptesu
3>3(p) phélnu phéltenu 3>3(p) phrepnu phreptenu
2/38>1s ?iphelnpa  |?iphelata  |phelaje 2/3s>1s |?iphrémpa |?iphrepata |phrepaje
2/3D>1s ?iphelyasu |?iphelatasu |phelasuje 2/3D>1s |?iphrémnasu|?iphrepatasu|phrepasuje
2/3p>1s ?iphelyanu |?iphelatanu |phelanuje 2/3p>1s |?iphrémpanu |?iphrepatanu |phrepanuje
2/3>1DI ?ipheli ?ipheliti 2/3>1Dp1 | ?iphrepi ?iphrepiti
2/3>1DE ?iphelu ?iphelutu  |pheluje 2/3>1DE |?iphrepu ?iphreputu  |phrepuje
2/3>1p1 ?iphelki ?ipheltiki 2/3>1p1  |?iphrepki  |?iphreptiki
2/3>1PE ?iphelka  |?ipheltaka |phelkaje 2/3>1PE |?iphrepka |?iphreptaka |phrepkaje
3,1D/PE>2s |?iphel ?iphélte 3,1D/PE>2s |Piphreip ?iphrepte
3,1D/PE>2D |?ipheli ?ipheliti 3,1D/PE>2D | ?iphrepi ?iphrepiti
3,1D/PE>2P |?iphelni ?ipheltenu 3,1D/PE>2P |iphrémni  |?iphreptenu
1s>2s phelne phelteni 1s>2s phrémne phrémteni
1s>2D phélsu pheltensu 1s>2D phrémsu phrémtensu
1s>2p phélnu pheltennu 1s>2p phrémnu phrémtennu
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Table 20: Transitive verb krakt ‘force’

non-past |past imperative non-past |past imperative
1s>3s rettu retta 1s>3s kraktu krakta
1s>3D rettusu rettasu 1s>3D kraktusu |kraktasu
1s>3p rettunu rettanu 1s>3p kraktunu |kraktanu
1pr>3 retsi resti 1pr>3 kraki krakiti
1DE>3 retsu restu 1DE>3 kraku krakutu
1p1>3 recki rectiki 1p1>3 krakki kraktiki
1PE>3 recka regtaka 1PE>3 krakka kraktaka
28>3s Piretta ?Pirette rette 28>3s ?ikrakte  |?ikrakte krakte
28>3D Piretsu ?Pirettesu 2s>3D ?ikraksu  |?ikraktesu
28>3p ?iretnu ?Pirettenu 28>3p ?ikraknu  |?ikraktenu
2D>3 ?Piretsi ?Piresti retsije 2D>3 Pikraki ?ikrakiti krakije
2N>3 ?irénni ?irestenu  |resnuje 2N>3 ?ikra:ni ?ikraktenu |kraknuje
3s>33 retta rette 3s>383 krakta krakte
3>3(D) retsu rettesu 3>3(D) kraksu kraktesu
3>3(p) retnu rettenu 3>3(p) kraknu kraktenu
2/38>1s ?iréjna ?Piresta retsaje 2/38>1s Pikrama  |?ikrakata  |krakaje
2/3D>1s ?iréjpasu  |?irestasu |retsasuje 2/3D>1s ?ikramasu |?ikrakatasu |krakasuje
2/3p>1s ?iréjpanu  |?irestanu |retsanuje 2/3p>1s ?ikraimpanu |?ikrakatanu |krakanuje
2/3>1DI Piretsi ?Piresti 2/3>1DI Pikraki Pikrakiti
2/3>1DE ?Piretsu ?Pirestu retsuje 2/3>1DE  |?ikraku  [?ikrakutu  |krakuje
2/3>1p1 Pirecki ?Pirectiki 2/3>1p1 ?ikrakki  |?ikraktiki
2/3>1PE Pirecka Pirectaka |reckaje 2/3>1PE ?ikrakka |?ikraktaka |krakkaje
3,1D/PE>2S |?irgj Pireste 3,1D/PE>2S |?ikra: ‘Pikrakte
3,1D/PE>2D |?iretsi Piresti 3,1D/PE>2D |?ikraki Pikrakiti
3,1D/PE>2P |?irénni Pirestenu 3,1D/PE>2P |?ikrami ‘Pikraktenu
1s>2s rénne rénteni 1s>2s kra:ne kranteni
1s>2D rénsu réntensu 1s>2D kransu krantensu
1s>2p rénnu réntennu 1s>2p krannu krantennu
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Table 21: Transitive verb ghremt ‘be disguted by’

Table 22: Transitive verb pent ‘attack’

non-past  |past imperative non-past |past imperative
1s>3s ghremdu  |ghrémta 1s>3s pendu pénta
1s>3D ghremdusu |ghrémtasu 1s>3D pendusu  |péntasu
1s>3p ghremdunu |ghrémtanu 1s>3p pendunu  |péntanu
1pr>3 ghremi ghremiti 1pr>3 péitsi péisti
1DE>3 ghremu ghremutu 1DE>3 péitsu péEistu
1p1>3 ghremki ghremtiki 1p1>3 pejki pejtiki
1PE>3 ghremka  |ghremtaka 1PE>3 pejka pejtaka
28>3s ?ighremde |?ighrémte |ghremde 28>3s ?ipende  |?ipénte pende
2s8>3D ?ighrémsu |?ighrémtesu 2s8>3D ?ipénsu  |?ipéntesu
28>3p ?ighrémnu |?ighrémtenu 28>3p ?ipénnu  |?ipéntenu
2D>3 ?ighremi  |?ighremiti |ghremije 2D>3 Pipéitsi Pipeisti péitsije
2N>3 ?ighremni |?ighremtenu |ghremnuje 2N>3 ?ipejni ?ip€istenu  |p€isnuje
3s>3s ghremda  |ghrémte 3s>3s pendw pénte
3>3(D) ghrémsu  |ghrémtesu 3>3(D) pénsu péntesu
3>3(p) ghrémnu  |ghrémtenu 3>3(p) pénnu péntenu
2/3s>1s  |?ighremna |?ighremata |ghremaje 2/38>1s ?ipejna ?ipe€ista péitsaje
2/3D>1s  |?ighremnasu |?ighrematasu |ghremasuje 2/3D>1s ?ipejnasu |?ipgistasu  |pEitsasuje
2/3p>1s  |?ighrempanu |?ighrematanu |ghremanuje 2/3p>1s ?ipejpanu  |?ip&istanu  |pgitsanuje
2/3>1p1  |?ighremi  |?ighremiti 2/3>1DI Pipéitsi Pipeisti
2/3>1DE |?ighremu |?ighremutu |ghremuje 2/3>1DE ?ip&itsu  |?ip€istu péitsuje
2/3>1p1  |?ighremki |?ighremtiki 2/3>1p1 ?ipejki Pipejtiki
2/3>1PE  |?ighremka |?ighremtaka |ghremkaje 2/3>1PE ?ipejka Pipejtaka  |pejkaje
3,1D/PE>2S |?ighrem Pighrémte 3,1D/PE>2S |?ipej Yip€iste
3,ID/PE>2D |?ighremi  |?ighremiti 3,1D/PE>2D |?ip€itsi Pipeisti
3,1D/PE>2P |?ighremni |?ighremtenu 3,1D/PE>2P |?ipejni ?ip€istenu
1s>2s ghremne  |ghremteni 1s>2s pejne pejteni
1s>2D ghrémsu  |ghremtensu 1s>2D péjsu pejtensu
1s>2p ghrémnu  |ghremtennu 1s>2p péjnu pejtennu
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Table 23: Transitive verb kayt ‘put on (the oven)’

An Overview of Khaling Verbal Morphology

Table 25: Intransitive verb rep ‘stand’

non-past  |past imperative non-past past imperative
1s>3s kandu kanta Is rémna repAta
1s>3D kandusu  |kantasu 1DI1 repi repiti
1s>3p kandunu  |kantanu 1DE repu reputu
1pr>3 kani kaniti 1p1 repki reptiki
1DE>3 kagu kanutu 1PE repka reptaka
1p1>3 kapki kantiki 2s ?iré&p ?irepte repje
1PE>3 kanka kapgtaka 2D ?irepi ?Pirepiti repije
28>3s ?ikands ?ikante kande 2N Pirémni ?ireptenu  |repnuje
2s>3D ?ikansu ?ikantesu 3s ré&p repte
2s>3p ?ikannu ?ikantenu 3D repi repiti
2D>3 ?ikani ?ikaniti kanije 3N rémnu reptenu
2N>3 ?ikamni ?ikantenu  |kannuje
3s>3s kandw kante Table 26: Intransitive verb yet ‘hurt’
3>3(p) |kansu kantesu non-past past imperative
3>3(p) kannu kantenu 1s néjna nesta
1DI petsi pesti
Table 24: Intransitive verb dze ‘say’ 1DE petsu nestu
non-past past imperative 1p1 pecki pectiki
1s dzepa dzenata 1PE pecka pectaka
1DI dzeji dzéiti 2s ?ingj ?ineste petstse
1DE dzeju dzgitu 2D ?Pinetsi ?Pipesti petsije
1p1 dzeki dzektiki 2N ?inénni ?igestenu  [pesnuje
1PE dzeka dzektaka 3s néj peste
2s ?idze ?idzeite dz&:je 3D petsi nesti
2D ?idzeji ?idzeéiti dzéije 3N pénnu pestenu
2N ?idzeni ?idzetnu dzénje
3s dze dze:te Table 27: Intransitive verb tsek
3D dzeji dzgiti ‘be hard, be stingy’
3N dzenu dzetnu non-past  |past imperative
Is tséma tsekata
DI tseki tsekiti
1DE tseku tsekutu
1p1 tsekki tsektiki
1PE tsekka tsektaka
2s itsé: ?Pitsekte tsekje
2D ?itseki ?Pitsekiti tsekije
2N ?itsé:ni ?itsektenu  [tseknuje
3s tsé: tsekte
3D tseki tsekiti
3N tsénu tsektenu
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Table 28: Intransitive verb jem

Table 31: Intransitive verb bher ‘fly’

‘be too late to harvest’ non-past past imperative
non-past past 1s bherna bherata
3s jem jémte 1D1 bheri bheriti
1DE bheru bherutu
Table 29: Intransitive verb len “visit shortly’ 1p1 bherki bhertiki
non-past  |past imperative IPE bherka bhertaka
1s lejpa l&:sta 2s ?ibher ?ibhérte bhérje
1DI1 leitsi le:sti 2D ?ibheri ?ibheriti bherije
1DE le:tsu l&:stu 2N ?ibherni ?ibhertenu  |bhernuje
11 lejki lejtiki 3s bher bhérte
1PE lejka lejtaka 3D bheri bheriti
2s Qilej file:ste leitse 3N bhernu bhertenu
2D ?Pile:tsi ?ile:sti [e:tsije
2N Rilejni file:istenu  |l€isnuje Table 32: Intransitive verb 2el ‘overflow’
3s lej le:ste non-past past
3D [&:tsi [&:sti 3s el 2¢lte
3N lejnu 1&:stenu
Table 33: Transitive verb khlep ‘peel’
Table 30: Intransitive verb bhrey ‘be lazy’ non-past  |past imperative
non-past past imperative 1s>3s  |khlebu khlebuta
Is bhré:iga bhrenata 1s>3D  |khlebusu |khlebutasu
DI bhreni bhreniti 1s>3p  |khlebunu [khlebutanu
1DE bhregu bhregutu Ip>3  |khlepi khlepiti
1p1 bhrenki bhrentiki IDE>3  |khlepu khleputu
1PE bhregka bhrentaka 1pr>3 khlepki khleptiki
2s ?ibhreny ?ibhrénte bhrépje 1pE>3  |khlepka khleptaka
2D ?ibhreni ?ibhrepiti  |bhrenije 2s>3s  |?ikhl&:be |?ikhlé:pte khle:be
2N ?ibhré:ni ?ibhregtenu  [bhrennuje 2s>3p  |?ikhlé&psu |?ikhlé:ptesu
3s bhreny bhrénte 2s>3p  |?ikhlé&pnu |?ikhlé:ptenu
3D bhreni bhreniti 2D>3 ?ikhlepi ?ikhlepiti khlepije
3N bhré:nu bhrentenu 2N>3 ?ikhlémni |?ikhleptenu |khlepnuje
3s>3s  |khlebu khlé:pte
3>3(p) |khl&psu |khlé:ptesu
3>3(p) |khl&pnu |khl&ptenu
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Table 35: Transitive verb dhek ‘wipe’

non-past  |past imperative non-past  |past imperative
1s>3s sedu séita 1s>3s dhegu dheguta
1s>3D sedusu séitasu 1s>3D  |dhegusu |dhegutasu
1s>3p sedunu sé&itanu 1s>3p dhegunu  |dhegutanu
1p>3 setsi sesti 1p>3 dheki dhekiti
1DE>3 setsu sestu IDE>3  |dheku dhekutu
1p1>3 secki sectiki 1p1>3 dhekki dhektiki
1PE>3 secka sectaka 1PE>3 dhekka dhektaka
2s>3s Pisedu Piséite sé:de 2s>3s ?idhé:ge  |?idhékte dhé:ge
2s>3D Piséitsu Piséitesu 2s>3D  |?idhéksu |?idhéktesu
2s>3p Pisé:itnu Pisé:itenu 2s>3p ?idhé:knu  |?idhé&ktenu
2D>3 ?Pisetsi ?Pisesti setsije 2D>3 ?idheki ?idhekiti dhekije
2N>3 ?isénni ?isestenu  |sesnuje 2N>3 ?idh&mni ?idhektenu |dheknuje
3s>3s se:de séite 3s>3s dhe:gu dhé:kte
3>3(D) séitsu séitesu 3>3(p) |dhéksu dhé:ktesu
3>3(p) sé:itnu séitenu 3>3(p) |dhéknu dhé:ktenu
2/38>1s ?is€jpa ?isesta setsaje
2/3D>1s Piséjpasu |?isestasu [setsasuje
2/3p>1s ?iséjnanu  |?isestanu [setsanuje
2/3>1DI1 ?Pisetsi ?Pisesti
2/3>1DE Pisetsu Pisestu setsuje
2/3>1p1 ?isecki Pisectiki
2/3>1PE Pisecka Pisectaka |seckaje
3,1D/PE>2S |?is§j Piseste
3,1D/PE>2D |?isetsi Pisesti
3,1D/PE>2P |?isénni Pisestenu
1s>2s sénne sénteni
1s>2D sénsu séntensu
1s>2p sénnu séntennu

1141




Guillaume Jacques, Aimée Lahaussois, Boyd Michailovsky, and Dhan Bahadur Rai

Table 36: Transitive verb phlem ‘tread’

Table 37: Transitive verb ghle ‘worship’

non-past  |past imperative non-past past imperative
1s>3s phlemu phlemuta 1s ghlena ghlénta
1s>3D phlemusu |phlemutasu 1DI1 ghleji ghléiti
1s>3p phlemunu |phlemutanu 1DE ghleju ghléitu
1pr>3 phlemi phlemiti 1p1 ghleki ghlektiki
1DE>3 phlemu phlemutu 1PE ghleka ghlektaka
1p1>3 phlemki phlemtiki 2s ?ighle ?ighlete ghleje
1PE>3 phlemka  |phlemtaka 2D ?ighleji ?ighléiti ghléije
28>3s ?iphl&imu |?iphlémte |phl&:me 2N ?ighleni ?ighletnu  [ghlénje
2s8>3D ?iphlémsu |?iphlémtesu 3s ghle ghlete
2s>3p ?iphlémnu |?iphlémtenu 3D ghlesu ghletsu
2D>3 ?iphlemi  |?iphlemiti |phlemije 3N ghlenu ghletnu
2N>3 ?iphlemni |?iphlemtenu |phlemnuje
3s>3s phleims phlémte Table 38: Transitive verb tshep ‘hate’
3>3(D) phlémsu  |phlémtesu non-past |past imperative
3>3(p) phlémnu _ |phlémtenu 1s>3s tshenu tshenuta
2/3s>1s  |?iphlempa |?iphlemata |phlemaje 1s>3D tshenusu  |tshenutasu
2/3D>1s  |Yiphlempasu |?iphlematasu |phlemasuje 1s>3p tshegunu  |tshegutanu
2/3p>1s  |Yiphlempanu |?iphlematanu [phlemanuje 1p>3 tsheni tsheniti
2/3>1p1  |Piphlemi  |?iphlemiti 1DE>3 tshenu tshegutu
2/3>1DE  |?iphlemu |?iphlemutu |phlemuje 1pr>3 tshenki tshentiki
2/3>1pt  |?iphlemki |?iphlemtiki 1PE>3 tshepgka tshentaka
2/3>1PE  |?iphlemka |?iphlemtaka [phlemkaje 2s>3s Ritshemu | Ritshénte tshéme
3,1D/PE>2s |?iphlem ?iphlémte 2s>3D itshénsu  |?itshéntesu
3,1p/PE>2D |?iphlemi  |?iphlemiti 2s>3p ?itshépgnu | ?itshéntenu
3,1D/PE>2P |?iphlemni |?iphlemtenu 2D>3 ?Pitsheni ?itsheniti tshenije
1s>2s phlemne  |phlemteni 2N>3 ?itshé&ni  |?itsheptenu |tshepnuje
1s>2D phlémsu  |phlemtensu 35>3s tshému tshénte
1s>2p phlémnu  |phlemtennu 3>3(D) tshégsu tshéntesu
3>3(p) tshégnu  |tshéptenu
2/3s>1s ?itshé&mga  |?itshepgata  |tshepaje
2/3p>1s  |titsh&nasu |?itshepatasu |tshepasuje
2/3p>1s ?itshé:panu | Pitshegatanu [tshenanuje
2/3>1D1 ?itsheni ?itsheniti
2/3>1DE  |?itshenu  |?itshengutu |tshenuje
2/3>1p1 ?itshepki | ?itshentiki
2/3>1pE  |?itshepka |?itshentaka |tshepkaje
3,1D/PE>2s |?itshen ?itshénte
3,1D/PE>2D | itsheni ?itsheniti
3,1D/PE>2P |?itsh&mni  |?itshentenu
1s>23 tshéne tshenteni
1s>2Dp tshénsu tshentensu
1s>2p tshénnu  |tshentennu
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Table 39: Transitive verb ner ‘finish’ Table 40: Transitive verb thel ‘take off’
non-past |past imperative non-past |past imperative
1s>3s neru neruta 1s>3s thelu theluta
1s>3D nerusu nerutasu 1s>3D thelusu thelutasu
1s>3p nerunu nerutAnu 1s>3p thelunu thelutanu
1p>3 neri neriti 1p>3 theli theliti
1DE>3 neru nerutu 1DE>3 thelu thelutu
1p>3 nerki nertiki 1p>3 thelki theltiki
1PE>3 nerka nertaka 1PE>3 thelka theltaka
28>3s PinCirat ?inérte néire 28>3s ?ithe:lw Pithélte thé:le
2s>3D ?inérsu ?inértesu 2s>3D ?ithélsu Pithéltesu
28>3p ?inérnu ?inértenu 2s>3p ?ithélnu Pithéltenu
2D>3 ?ineri ?ineriti nerije 2D>3 ?itheli ?itheliti thelije
2N>3 ?inerni ?inertenu  |nernuje 2N>3 ?ithelni ?itheltenu  |thelnuje
3s>3s néirg nérte 3s>3s theé:lw thélte
3>3(D) nérsu nértesu 3>3(p)  |thélsu théltesu
3>3(p) nérnu nértenu 3>3(p)  |thélnu théltenu
2/38>1s ?inerna ?ineratA  |neraje
2/3D>1s ?inernasu |?ineratasu |nerasuje
2/3p>1s ?inernanu |?ineratanu |neranuje
2/3>1DI1 Pineri Pineriti
2/3>1DE ?ineru ?inerutu  |neruje

2/3>1p1 ?Pinerki Pinertiki
2/3>1PE ?inerka ?inertaka  |nerkaje

3,1D/PE>2S |?iner ?inérte
3,1D/PE>2D |?ineri Pineriti
3,1D/PE>2P |?inerni ?inertenu
1s>2s nerne nerteni
1s>2D nérsu nertensu
1s>2p nérnu nertennu
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Table 41: Transitive verb kept ‘climb; sting’

Table 42: Transitive verb re#t ‘laugh at’

non-past  |past imperative non-past |past imperative
1s>3s keptu kepta 1s>3s rettu retta
1s>3D keptusu keptasu 1s>3D rettusu rettasu
1s>3p keptunu  |keptanu 1s>3p rettunu rettanu
1pr>3 kepi kepiti 1pr>3 retsi resti
1DE>3 kepu keputu 1DE>3 retsu restu
1p1>3 kepki keptiki 1p1>3 recki regtiki
1PE>3 kepka keptaka 1PE>3 recka regtaka
28>3s ?ikepta ?ikepte kepte 28>3s Piretta ?Pirette rette
2s8>3D ?ikepsu ?ikeptesu 2s8>3D Piretsu ?Pirettesu
28>3p ?ikepnu ?ikeptenu 28>3p ?iretnu ?Pirettenu
2D>3 ?ikepi ?ikepiti kepije 2D>3 Piretsi ?Piresti retsije
2N>3 ?ikémni ?ikeptenu  |kepnuje 2N>3 ?irénni ?irestenu  |resnuje
3s>33 kepta kepte 3s>383 rette rette
3>3(D) kepsu keptesu 3>3(D) retsu rettesu
3>3(p) kepnu keptenu 3>3(p) retnu rettenu
2/38>1s ?ikémpa  |?ikepata  |kepaje 2/38>1s ?iré&jna ?Piresta retsaje
2/3D>1s ?ikémpasu |?ikepatasu |kepasuje 2/3D>1s ?iréjpasu |?irestasu |retsasuje
2/3p>1s ?ikémpanu |?ikepatanu [kepanuje 2/3p>1s ?iréjpanu  |?irestanu |retsanuje
2/3>1DI ?ikepi ?ikepiti 2/3>1DI Piretsi ?Piresti
2/3>1DE  |?ikepu ?ikeputu  |kepuje 2/3>1DE Piretsu ?irestu retsuje
2/3>1p1 ?ikepki ?ikeptiki 2/3>1p1 ?irecki ?irectiki
2/3>1PE ?ikepka ?ikeptaka |kepkaje 2/3>1PE Pirecka ?irectaka |reckaje
3,1D/PE>2sS |?iké:p ?ikepte 3,1D/PE>2S |?irgj ?Pireste
3,1D/PE>2D |?ikepi ?ikepiti 3,1D/PE>2D |?iretsi ?Piresti
3,1D/PE>2P |?ikémni ?ikeptenu 3,1D/PE>2P |?irénni Pirestenu
1s>2s kémne kémteni 1s>2s rénne rénteni
1s>2D kémsu kémtensu 1s>2D rénsu réntensu
1s>2p kémnu kémtennu 1s>2p rénnu réntennu
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Table 43: Transitive verb rekt ‘write’ Table 44: Transitive verb lemt ‘coax’
non-past |past imperative non-past |past imperative

1s>3s rektu rekta 1s>3s lemdu lémta
1s>3D rektusu  |rektasu 1s>3D lemdusu  |lémtasu
1s>3p rektunu  |rektanu 1s>3p lemdunu  |I[émtanu
1p>3 reki rekiti 1p>3 lemi lemiti
1DE>3 reku rekutu 1DE>3 lemu lemutu
1p>3 rekki rektiki 1p>3 lemki lemtiki
1PE>3 rekka rektaka 1PE>3 lemka lemtaka
28>3s Pirekta ?irekte rekte 2s>3s ?ilemda  |?ilémte lemde
2s>3D ?ireksu ?irektesu 2s>3D ?ilémsu ?ilémtesu
28>3p ?ireknu  |?irektenu 2s>3p ?iléemnu  |?ilémtenu
2D>3 Pireki Pirekiti rekije 2D>3 ?ilemi Pilemiti lemije
2N>3 ?irémi ?irektenu  [reknuje 2N>3 ?ilemni ?ilemtenu |lemnuje
3s>3s rekta rekte 3s>3s lemdw lémte
3>3(D) reksu rektesu 3>3(D) lémsu lémtesu
3>3(p) reknu rektenu 3>3(p) lémnu 1émtenu
2/38>1s ?iré&ma ?irekata  |rekaje 2/38>1s ?ilempa  |?ilemata  |lemaje
2/3D>1s ?iré&masu  |?irekatasu |rekasuje 2/3D>1s ?ilempasu |?ilematasu |lemasuje
2/3p>1s ?iré&manu  |?irekatanu |rekanuje 2/3p>1s ?ilempanu |?ilematanu |lemanuje
2/3>1DI1 Pireki Pirekiti 2/3>1DI1 Pilemi Pilemiti
2/3>1DE ?ireku ?irekutu  |rekuje 2/3>1DE ?ilemu Pilemutu  |lemuje
2/3>1pI Pirekki Pirektiki 2/3>1pI Pilemki Pilemtiki
2/3>1PE ?irekka |?irektaka |rekkaje 2/3>1PE ?ilemka  |?ilemtaka |lemkaje
3,1D/PE>2S |?iré: Pirekte 3,1D/PE>2sS |?ilem ?ilémte
3,1D/PE>2D |?ireki Pirekiti 3,1D/PE>2D |?ilemi Pilemiti
3,1D/PE>2P |?iréini Pirektenu 3,1p/PE>2P |Pilemni ?ilemtenu
1s>2s réne rénteni 1s>2s lemne lemteni
1s>2D rénsu réntensu 1s>2D [émsu lemtensu
1s>2p rénnu réntennu 1s>2p lémnu lemtennu
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Table 45: Transitive verb tshent ‘recognize’

Table 46: Transitive verb rept ‘cause trouble’

non-past |past imperative non-past |past imperative
1s>3s tshendu tshénta 1s>3s rendu rénta
1s>3D tshendusu |tshéntasu 1s>3D rendusu  [réntasu
1s>3p tshendunu |tshéntanu 1s>3p rendunu  |réntanu
1p>3 tshé:tsi tshé:sti 1p>3 reni repiti
1DE>3 tshé:tsu tshé:stu 1DE>3 renu renutu
1p1>3 tshejki tshejtiki 1p1>3 repki reptiki
1PE>3 tshejka tshejtaka 1PE>3 repka regtaka
28>3s ?itshendw |?itshénte |tshende 28>3s ?irenda  |?irénte rende
2s8>3D ?itshénsu  |?itshéntesu 2s8>3D ?irénsu  |?iréntesu
2s>3p Pitshénnu  |?itshéntenu 2s>3p Pirénnu  |?iréntenu
2D>3 Pitsheitsi  [Pitshé&isti  |tshe:tsije 2D>3 Pireni ?Pireniti renije
2N>3 Pitshejni  |?itshe:stenu [tshe:snuje 2N>3 Pirémni ?irentenu  |repnuje
3s>3s tshendu tshénte 3s>3s rendw rénte
3>3(D) tshénsu tshéntesu 3>3(D) rénsu réntesu
3>3(p) tshénnu tshéntenu 3>3(p) rénnu réntenu
2/3s>1s Pitshejna  [Pitshéista  |tshe:tsaje 2/3s>1s Pirémma ?irenata renaje
2/3D>1s  |?itshejnasu |?itshé:stasu |tshe:tsasuje 2/3D>1s Pirémasu  |Piregatasu |renasuje
2/3p>1s Pitshejnanu |Pitsh&:stanu |tsh&:tsanuje| |2/3p>1s Piré&manu  |?iregatanu |renanuje
2/3>1DI1 Pitsheitsi  |Pitshé&:sti 2/3>1DI1 Pireni Pireniti
2/3>1DE  |?itsh&tsu |?itsh&stu |tshé:tsuje 2/3>1DE Piregu ?iregutu renuje
2/3>1p1 ?itshejki  |?itshejtiki 2/3>1p1 ?Pirepki Pirentiki
2/3>1pE  |?itshejka |?itshejtaka [tshejkaje 2/3>1PE ?irepka  |?ireptaka  |repkaje
3,1D/PE>2s |?itshej ?Pitshe:ste 3,1D/PE>2S |?iren Pirénte
3,1D/PE>2D |?itshé:itsi | ?itshé:sti 3,1D/PE>2D |?ireni ?Pireniti
3,1D/PE>2P |?itshejni  |?itsh&:stenu 3,1D/PE>2P |?iréini ?Pirentenu
1s>2s tshejne tshejteni 1s>2s réne renteni
1s>2D tshéjsu tshejtensu 1s>2D rénsu rentensu
1s>2p tshéjnu tshejtennu 1s>2p rénnu rentennu
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Table 49: Intransitive verb pi ‘come (level)’

non-past  |past imperative non-past past imperative
1s>3s dherdu dhérta 1s pinA pinata
1s>3D dherdusu  |dhértasu 1DI1 piji pliti
1s>3p dherdunu  |dhértanu 1DE piju piitu
1pr>3 dheri dheriti 1p1 piki piktiki
1DE>3 dheru dherutu 1PE pika piktaka
1pr>3 dherki dhertiki 28 ?ipi Piplite puije
1PE>3 dherka dhertaka 2D ipiji Pipfiti piije
28>3s ?idherde  |?idhérte dherde 2N ?ipini ?iputnu plnje
2s>3D ?idhérsu  |?idhértesu 3s pi puite
2s>3p ?idhérnu  |?idhértenu 3D piji piiti
2D>3 ?idheri ?idheriti dherije 3N pinu putnu
2N>3 ?idherni  |?idhertenu |dhernuje
3s>3s dherdu dhérte Table 50: Intransitive verb dzhip
3>3(D) dhérsu dhértesu ‘get spoiled (pumpkin)’
3>3(p) dhérnu dhértenu non-past past
2/38>1s ?idherna  |?idherata |dheraje 33 dzhap dzhipte
2/3p>1s  |?idherpasu |?idheratasu |dherasuje
2/3p>1s  |?idherpanu |?idheratanu |dheranuje Table 51: Intransitive verb dzhit ‘get wet’
2/3>1DI ?idheri ?idheriti non-past past imperative
2/3>1DpE  |?idheru ?idherutu  |dheruje 1s dzhAjna dzhista
2/3>1p1 ?idherki  |?idhertiki 1DI dzhitsi dzhisti
2/3>1PE ?idherka  |?idhertaka |dherkaje 1DE dzhitsu dzhistu
3,1p/PE>2s8 |?idher tidhérte 1P dzhagki dzhagtiki
3,1D/PE>2D |?idheri ?idheriti 1PE dzhagka dzhagtaka
3,1D/PE>2p |tidherni _|?idhertenu 25 2idzhAj ?idzhiste  |dzhitstse
1s>2s dherne dherteni 2D idzhitsi  |?idzhisti  |dzhitsije
1s>2p dhérsu dhertensu 2N ?idzhAnni  |?idzhistenu |dzhisnuje
1s>2p dhérnu dhertennu 3s dzhAj dzhiste

3D dzhitsi dzhisti
Table 48: Detransitive verb tshelt ‘be clear’ 3N dzhAnnu dzhistenu

non-past  |past

3s tsheldu tshélte Table 52: Intransitive verb ghik ‘be entangled’

‘sprout’

non-past past
3s ghi: ghikte
Table 53: Intransitive verb lim
non-past past
3s Iam limte
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Table 54: Intransitive verb gin ‘be afraid’ Table 56: Transitive verb bi ‘give’
non-past past imperative non-past |past imperative
Is DAjnA piista Is bina binta
1D1 piitsi piisti 1D1 biji biiti
1DE piitsu piistu 1DE biju biitu
1p1 pajki pajtiki 1p1 biki biktiki
1PE pajka pajtaka 1PE bika biktaka
2s 21naj ?iniiste piitse 2s ?ibi ?ibite bije
2D Pinfitsi ?ipiisti piitsije 2D ?ibiji ?ibiiti biije
2N ?ipgajni ?ipfistenu  |piisnuje 2N ?ibini ?ibutnu bilinje
3s DAj piiste 3s bi bite
3D piitsi piisti 3D bisu bitsu
3N pajnu piistenu 3N binu bitnu
2/38>1s ?ibina ?ibigata binaje
Table 55: Intransitive verb biy ‘look nice’ 2/3p>1s ?ibinasu  |?ibigatasu |binasuje
non-past past imperative 2/3p>18 ?ibipanu  |?ibigatanu [biganuje
1s bima binata 2/3>1DI1 ?ibiji ?ibiiti
1DI bini bipiti 2/3>1DE ?ibiju ?ibiitu biije
1DE binu binutu 2/3>1pI ?ibiki ?ibiktiki
1pI bapki bantiki 2/3>1PE ?ibika ?ibiktaka |bikaje
1PE banka bangtaka 3,1D/PE>2s |?ibi ?iblite
28 2iban ?ibinte binje 3,1D/PE>2D |?ibiji ?ibiiti
2D 2ibini 2ibiniti binije 3,1D/PE>2P |?ibini ?ibutnu
2N 2ibini 2ibintenu  |binnuje 1s>2s bine binteni
3s ban binte 1s>2D binsu bintensu
3D bini bipiti 1s>2p binnu bintennu
3N bii:nu bintenu
Table 57: Transitive verb khip ‘cook’
non-past |past imperative
1s>3s khibu khibuta
1s>3D  |khibusu  |khibutasu
1s>3p khibunu  |khibutanu
1D1>3 khipi khipiti
IDE>3  |khipu khiputu
1p1>3 khapki khaptiki
1PE>3 khapka khaptaka
25>3s ?ikhitbe  |?ikhiipte khiibe
2s>3D ?ikhiipsu  |?ikhiiptesu
28>3p ?ikhfipnu  |?ikhiiptenu
2D>3 ?ikhipi ?ikhipiti khipije
2N>3 ?ikhAmni |?ikhiptenu |khipnuje
3s>3s khitba khiipte
3>3(p) |khiipsu khiiptesu
3>3(p)  |khitpnu khiiptenu
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Table 59: Transitive verb kik ‘tie’

non-past |past imperative non-past |past imperative
1s>3s sidu siitA 1s>3s kigu kiguta
1s>3D sidusu siitasu 1s>3D kigusu kigutasu
1s>3p sidunu siitanu 1s>3p kigunu kigutanu
1pr>3 sitsi sisti 1pr>3 kiki kikiti
1DE>3 sitsu sistu 1DE>3 kiku kikutu
1p1>3 sagki sagtiki 1p1>3 kakki kaktiki
1PE>3 sagka sagtaka 1PE>3 kakka kaktaka
28>3s Pisfidu ?Pisiite siide 28>3s ?ikiigw ?ikitkte kiige
28>3D ?isfitsu ?isiitesu 2s>3D ?ikitksu ?ikitktesu
28>3p ?isfitnu ?isiitenu 28>3p ?ikitknu | ?ikitktenu
2D>3 ?isitsi ?Pisisti sitsije 2D>3 ?ikiki ?ikikiti kikije
2N>3 ?isAnni ?isistenu  |sisnuje 2N>3 ?iktini ?ikiktenu  |kiknuje
3s>3s siidw siite 3s>3s kiiga kitkte
3>3(D) sfitsu sfitesu 3>3(p)  |kitksu kitktesu
3>3(p) siitnu siitenu 3>3(p) kitknu kitktenu
2/38>1s ?isAjna ?isista sitsaje
2/3D>1s ?isAjpasu |?isistasu  [sitsAsuje
2/3p>1s ?isAjpanu |?isistanu  [sitsanuje
2/3>1DI ?isitsi ?Pisisti
2/3>1DE ?Pisitsu Pisistu sitsuje
2/3>1p1 Pisacki Pisactiki
2/3>1PE Pisacka Pisactaka |sackaje
3,1D/PE>2S |?isA]j ?Pisiste
3,1D/PE>2D |?isitsi Pisisti
3,1D/PE>2P |?isAnni Pisistenu
1s>2s sAnne sAnteni
1s>2D sAnsu sAntensu
1s>2p sAnnu sAntennu
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Table 60: Transitive verb tshim

Table 61: Transitive verb siy ‘ask’

‘push to the other side’ non-past |past imperative
non-past past imperative 1s>3s sigu siguta
1s>3s tshimu tshimuta 1s>3D sigusu sigutasu
1s>3D tshimusu tshimutasu 1s>3p sigunu sigutanu
1s>3p tshimunu  |tshimutanu 1p>3 sini sipiti
1p>3 tshimi tshimiti 1DE>3 sigu sigutu
1DE>3 tshimu tshimutu 1pr>3 sapki santiki
1pr>3 tshamki tshamtiki 1PE>3 sagka santaka
1PE>3 tshamka tshamtaka 28>3s Pisiing ?isinte siipe
2s>3s ?itshitma  |?itshimte tshiime 2s>3D ?isipsu ?isintesu
2s>3D ?itshimsu  |?itshimtesu 2s>3p ?isinnu ?isintenu
2s>3p ?itshimnu | ?itshimtenu 2D>3 Pisini Pisiniti sipije
2D>3 ?itshimi ?itshimiti  |tshimije 2N>3 ?istini ?isigtenu  [signuje
2N>3 ?itshamni  |?itshimtenu |tshimnuje 3s>3s siinw sipte
3s>3s tshiimu tshimte 3>3(D) sigsu sigtesu
3>3(D) tshimsu tshimtesu 3>3(p) signu sigtenu
3>3(p) tshimnu tshimtenu 2/38>1s Pistipa ?isigata sigaje
2/3s>1s |Ritshamna |?itshimata |tshimaje 2/3D>1s ?istigasu |?isipatasu |[sigasuje
2/3p>1s  |Pitshamnasu|?itshimatasu |tshimasuje 2/3p>1s ?istiganu |?isigatanu [siganuje
2/3p>1s  |?itshampanu |?itshimatanu |tshimanuje 2/3>1DI ?isipi ?Pisipiti
2/3>1p1  |?itshimi ?itshimiti 2/3>1DE Pisinu ?Pisinutu siguje
2/3>1DE |?itshimu ?itshimutu  |tshimuje 2/3>1p1 Pisapki Pisangtiki
2/3>1p1  |Ritshamki |?itshamtiki 2/3>1PE ?isapka  |?isagtaka  [sapkaje
2/3>1pPE |Pitshamka |?itshamtaka |tshamkaje 3,1D/PE>2S |?isAn ?isinte
3,1D/PE>2s |?itsham ?itshimte 3,1D/PE>2D |?isini ?Pisipiti
3,1D/PE>2D |?itshimi ?Pitshimiti 3,1D/PE>2P |?istini ?isintenu
3,1D/PE>2P |Pitshamni  |?itshimtenu 1s>2s siine santeni
1s>2s tshamne tshamteni 1s>2D sAnsu santensu
1s>2D tshAmsu tshamtensu 1s>2p sAnnu santennu
1s>2p tshAmnu tshamtennu
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Table 62: Transitive verb tsir ‘pile up bricks’ Table 64: Transitive verb Zipt ‘put to sleep’
non-past |past imperative non-past  |past imperative
1s>3s tsiru tsiruta 1s>3s ?Aptu Apta
1s>3D tsirusu tsirutasu 1s>3D ?Aptusu Aptasu
1s>3p tsirunu tsirutanu 1s>3p ?Aptunu ?Aptanu
1pr>3 tsiri tsiriti 1pr>3 ?ipi ?ipiti
1DE>3 tsiru tsirutu 1DE>3 Pipu Piputu
1p1>3 tsarki tsartiki 1p1>3 ?apki ?aptiki
1PE>3 tsarka tsartaka 1PE>3 ?2Apka 2aptaka
28>3s Pitsiira ?itsirte tsiire 28>3s ?i?apta ?i?Apte ?Apte
2s>3D Pitsirsu ?Pitsirtesu 2s>3D ?i?Aapsu ?i?Aptesu
2s>3p Pitsirnu ?itsirtenu 2s>3p ?i?apnu ?i?Aptenu
2D>3 Pitsiri ?Pitsiriti tsirije 2D>3 ?i?ipi ?i?ipiti tipije
2N>3 Pitsarni ?itsirtenu  |tsirnuje 2N>3 ?i?Amni ?i?iptenu  |?ipnuje
3s>3s tsiirg tsirte 3s>3s Apte Apte
3>3(D) |tsirsu tsirtesu 3>3(D) Apsu ?Aptesu
3>3(p) tsirnu tsirtenu 3>3(p) ?Apnu ?Aptenu
2/38>1s ?i?Ampa  |?i?ipata  |?ipAje
Table 63: Transitive verb fil ‘knead’ 2/3D>1s ?i?Amnasu [?i?ipAtasu |?ipAsuje
non-past  |past imperative 2/3p>1s ?i?Amnanu [?i?ipatanu |?ipanuje
1s>3s filu filuta 2/3>1DI ?i?ipi ?ivipiti
1s>3D filusu filutasu 2/3>1DE ?i?ipu Pi%iputu  |?ipuje
1s>3p filunu filutanu 2/3>1p1 ?i?apki ?i?aptiki
1pr>3 Aili Ailiti 2/3>1PE ?i?apka ?itaptaka |?apkaje
1DE>3 filu Ailutu 3,1D/PE>2S |?i?Ap ?ivipte
1r1>3 Aalki Aaltiki 3,1D/PE>2D |?i?ipi ?i?ipiti
1PE>3 fialka Aaltaka 3,1D/PE>2P |?i?Amni ?i?iptenu
2s>3s Yifitila Pifiilte fAiile 1s>2s ?Amne ?Amteni
2s>3D ?iAflsu ?iAtltesu 1s>2D ?Amsu ?Amtensu
2s>3p ?ifilnu Pifiiltenu 1s>2p ?Amnu ?Amtennu
2D>3 ?ifili Pifiliti filije
2N>3 ?iAAlni ?ifiltenu  |filnuje
3s>3s Afila filte
3>3(p) |filsu Afltesu
3>3(p) Aflnu Ailtenu
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Table 65: Transitive verb sitt ‘heal (shaman)’

Table 66: Transitive verb ghrikt ‘hold’

non-past |past imperative non-past  |past imperative
1s>3s sattu SAttA 1s>3s ghraktu ghrakta
1s>3D sattusu sattasu 1s>3D ghraktusu |ghraktasu
1s>3p sattunu sattanu 1s>3p ghraktunu |ghraktanu
1pr>3 sitsi sisti 1pr>3 ghriki ghrikiti
1DE>3 sitsu sistu 1DE>3 ghriku ghrikutu
1p1>3 sagki sagtiki 1p1>3 ghrakki ghraktiki
1PE>3 sagka sagtaka 1PE>3 ghrakka  |ghraktaka
28>3s PisAtta Pisatte satte 28>3s Pighrakte |?ighrakte  |ghrakte
2s>3D Pisatsu PisAttesu 2s>3D Pighraksu |?ighraktesu
28>3p ?isatnu ?isAttenu 28>3p ?ighraknu  |?ighraktenu
2D>3 ?isitsi ?Pisisti sitsije 2D>3 ?ighriki ?ighrikiti  |ghrikije
2N>3 ?isAnni Pisistenu  |sisnuje 2N>3 Pighrlini  |?ighriktenu |ghriknuje
3s>3s satte satte 3s>3s ghrakte ghrakte
3>3(D) SAtsu sAttesu 3>3(D) ghraksu ghraktesu
3>3(p) satnu sAttenu 3>3(p) ghraknu  |ghraktenu
2/38>1s ?isAjna ?isista sitsaje 2/3s>1s  |?ighriipa  |?ighrikata |ghrikaje
2/3D>1s ?isAjpasu |?isistasu |sitsasuje 2/3p>1s  |Pighriinasu |?ighrikatasu |ghrikasuje
2/3p>1s ?isAjpanu |?isistanu  [sitsanuje 2/3p>1s  |?ighripanu|?ighrikatanu|ghrikanuje
2/3>1DI ?isitsi ?Pisisti 2/3>1DI ?ighriki ?ighrikiti
2/3>1DE ?Pisitsu Pisistu sitsuje 2/3>1DE  |Pighriku  |?ighrikutu |ghrikuje
2/3>1p1 Pisacki Pisactiki 2/3>1p1 Pighrakki |?ighraktiki
2/3>1PE Pisacka Pisactaka |sackaje 2/3>1PE  |?ighrakka |?ighraktaka |ghrakkaje
3,1D/PE>2S |?isAj Pisiste 3,1D/PE>2s |?ighrii: ?Pighrikte
3,1D/PE>2D |?isitsi ?Pisisti 3,1D/PE>2D| ?ighriki ?Pighrikiti
3,1D/PE>2P |?isAnni Pisistenu 3,1D/PE>2P |?ighrlini  |?ighriktenu
1s>2s SAnne sAnteni 1s>2s ghriine ghrAnteni
1s>2D SAnsu sAntensu 1s>2D ghrinsu ghrAntensu
1s>2p sAnnu sAntennu 1s>2p ghrinnu  |ghrintennu
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Table 67: Transitive verb mimt ‘think’ Table 68: Transitive verb yint ‘be afraid of’
non-past  |past imperative non-past  |past imperative

1s>3s mamdu mAmta 1s>3s pandu pAnta
1s>3D mamdusu  |mAmtasu 1s>3D pandusu  [gAntasu
1s>3p mamdunu |mAmtanu 1s>3p pandunu  |[pAntanu
1p>3 mimi mimiti 1pr>3 piitsi piisti
1DE>3 mimu mimutu 1DE>3 piitsu piistu
1p1>3 mamki mamtiki 1p1>3 pajki pajtiki
1PE>3 mamka mamtaka 1PE>3 pajka pajtaka
28>3s ?imamde  |?imAmte mamde 28>3s ?ingande  |?inAnte gande
2s>3D ?imAmsu  |?imAmtesu 2s>3D ?inAnsu ?inAntesu
28>3p ?imAmnu  |?imAmtenu 28>3p ?ipAnnu  |?ipAntenu
2D>3 Pimimi Pimimiti mimije 2D>3 ?Piniitsi ?Piniisti piitsije
2N>3 ?imamni  |?imimtenu |mimnuje 2N>3 ?inajni ?ipfistenu  |piisnuje
3s>3s mamds mAmte 3s>3s N pAnte
3>3(D) mAmsu mAmtesu 3>3(D) pAnsu pAntesu
3>3(p) mAmnu mAmtenu 3>3(p) pAnnu pAntenu
2/38>1s ?imampa  |?imimata  |mimaje 2/38>1s ?inAjna Pipiista piitsaje
2/3p>1s  |?imamnasu |[?imimatAsu [mimasuje 2/3D>1s ?inAjpasu  |Piniistasu  |piitsasuje
2/3p>1s ?imampanu | ?imimatanu |mimanuje 2/3p>1s ?igAjpanu  (?ipfistanu  |piitsanuje
2/3>1DI ?imimi ?imimiti 2/3>1DI ?ipiitsi Pipiisti
2/3>IDE  |?imimu Pimimutu  |mimuje 2/3>1DE ?iniitsu Pipiistu piitsuje
2/3>1p1 ?imamki  |?imamtiki 2/3>1p1 2inajki Pinajtiki
2/3>1PE  |?imamka |?imamtaka |mamkaje 2/3>1PE ?igajka Pigajtaka  |pajkaje
3,1D/PE>2S |?2imAm Pimimte 3,1D/PE>2S |?inAj ?Piniiste
3,1D/PE>2D |?imimi Pimimiti 3,1D/PE>2D |?ipiitsi Pipiisti
3,1D/PE>2P |?imamni  |?imimtenu 3,1D/PE>2P |?igajni ?ipiistenu
1s>2s mamne mamteni 1s>2s pAjne nAjteni
1s>2D mAmsu mAmtensu 1s>2D pAjsu nAjtensu
1s>2p mAmnu mAmtennu 1s>2p pAjnu pAjtennu
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Table 69: Transitive verb tshilt

Table 70: Intransitive verb fio ‘come’

‘be dissatisfied with’ non-past past imperative
non-past  |past imperative Is fiena fenata
1s>3s tshaldu tshAlta 1DI1 feji Aéiti
1s>3D tshaldusu |tshAltasu IDE fieju fiditu
1s>3p tshaldunu  |tshAltanu 1p1 fieki fiektiki
1pr>3 tshili tshiliti IPE fieka fiektaka
IDE>3  |tshilu tshilutu 2s tifie Pifioite fioije
1P>3 tshalki tshaltiki 2D ?ifieji ?ihditi fiéije
1PE>3 tshalka tshaltaka 2N ?ifeni ?ifotnu fibénje
2535 |fitshalde  [itshAlte |tshalde 3 fio fiote
2s8>3D ?itshAlsu  |?itshAltesu 3D fieji fisiti
25>3p  [fitshilnu  |Pitshaltenu 3N |flenu fiotnu
2p>3 ?itshili ?itshiliti tshilije . . ,
IN>3 %itshalni  |itshiltenu |tshilnuje Table 71: Intransitive verb sop ‘be full
3538 tshaldu tshAlte non-past past imperative
3>3(D) tshAlsu tshAltesu s soo@gA sep{\FA
3>3(p)  |tshAlnu  |tshiltenu iDI sepi sepiti
2/38>1s ?itshalpa  |?itshilata  [tshilaje PE sepu ) sop ut.u )
. o L 1P soopki sooptiki
2/3p>1s  |?itshalpasu |?itshilatasu |tshilasuje
. o . ) 1PE soopka sooptaka
2/3p>1s ?itshalpanu | ?itshilatanu |tshilanuje . . .
Lo o 2s ?isoop ?isepte sepje
2/3>1DI1 ?itshili ?itshiliti L SR ..
o o L 2D Pisepi ?isepiti sepije
2/3>1DE  |?itshilu ?itshilutu  [tshiluje 5 A . .
N ?isodmni ?iseptenu  [sepnuje
2/3>1p1 Pitshalki  |?itshaltiki 3
. . . S S00p septe
2/3>1PE ?%tShAlkA ?%tshﬁltAkA tshalkaje 3D sepi sepiti
3,1D/PE>2S |?itshal ?Pitshilte 3N so3mnu septenu
3,1D/PE>2D |?itshili Pitshiliti
3,1D/PE>2P |?itshalni ?itShﬂtsflu Table 72: Intransitive verb jot ‘look like’
18>2s8 tsh/Axlne tshalteni non-past past imperative
1s>2D tsh/:lsu tshaltensu Is 03ja josta
1s>2p tshAlnu tshaltennu 1DI jotsi josti
1DE jetsu jostu
1p1 joocki joogtiki
1PE joocka jooctaka
2s ?ijodj ijeste jotstse
2D Pijetsi Yijesti jetsije
2N ?ijodnni ?ijestenu  |jesnuje
3s jodj joste
3D jotsi jesti
3N joSnnu jestenu
Table 73: Intransitive verb 20k ‘crow’
non-past past
3s 20: Pekte

1154




Table 74: Intransitive verb tshom ‘dance’

An Overview of Khaling Verbal Morphology

Table 77: Intransitive verb bhor ‘grow’

non-past past imperative non-past past imperative
Is tshoompa  |tshemata Is bhoorna bherata
1D1 tshemi tshemiti 1D1 bheri bheriti
1DE tshemu tshemutu 1DE bheru bherutu
1p1 tshoomki tshoomtiki 1p1 bhoorki bhoortiki
1PE tshoomka  |tshoomtaka 1PE bhoorka bhoortaka
2s ?itshoom ?itshémte  |tshémje 2s ?ibhoor ?ibhérte bhérje
2D ?itshemi ?itshemiti  |tshemije 2D ?ibheri ?ibheriti bherije
2N ?itshoomni |?itshemtenu (tshemnuje 2N ?ibhoorni  |?ibhertenu |bhernuje
3s tshoom tshémte 3s bhoor bhérte
3D tshemi tshemiti 3D bheri bheriti
3N tshoomnu  |tshemtenu 3N bhoornu bhertenu
Table 75: Intransitive verb tson ‘jump’ Table 78: Intransitive verb ghol ‘grow in width’
non-past past imperative non-past past
Is tsoojnA tsé:sta 3s ghool ghélte
1DI tse:tsi tse:sti
1DE tsé:tsu tsé:stu Table 79: Transitive verb phlo ‘help’
1P tsoojki tsoojtiki non-past |past imperative
1PE tsoojka tsoojtaka 1s phlena phlénta
28 ?itso9j Pitséiste tséitse 1DI phleji phléiti
2D ?itseitsi Pitsé:sti tsé:tsije 1DE phleju phléitu
2N ?itsoojni Pitséistenu  |tséisnuje 1P phleki phlektiki
3s ts00j tséste 1PE phleka phlektaka
3D tse:tsi tse:sti 2s ?iphle ?iphlete phleje
3N tsoojnu tséistenu 2D ?iphleji  |?iphléiti  |phléije
2N ?iphleni  |?iphlotnu  |phldnje
Table 76: Intransitive verb khoy ‘come’ 3s phle phlete
non-past past imperative 3D phlesu phletsu
Is khomga khenata 3N phlenu phletnu
DI kheni kheniti 2/3s>1s  |?iphlepa |?iphlepata |phlegaje
1DE khegu khenutu 2/3p>1s  |?iphlenasu |?iphlenatasu [phlenasuje
1p1 khonki khontiki 2/3p>1s  |?iphleganu|?iphlenatanu|phleganuje
1PE khopka khontaka 2/3>1p1  |?iphleji  |?iphléiti
2s ?ikhoy ?ikhénte khénje 2/3>1DE  |?iphleju  |?iphléitu phleije
2D ?ikheni ?ikheniti khenije 2/3>1p1 ?iphleki  |?iphlektiki
2N ?ikho:ni ?ikhentenu |khennuje 2/3>1pE  |?iphleka |?iphlektaka |phlekaje
3s khopy khénte 3,1D/PE>2s | ?iphle ?iphlo:te
3D kheni kheniti 3,1D/PE>2D|?iphleji  |?iphléiti
3N kho:nu khentenu 3,1D/PE>2P |?iphleni  |?iphlotnu
1s>2s phlene phlénteni
1s>2D phlénsu  |phléntensu
1s>2p phlénnu  |phléntennu
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Table 80: Transitive verb 2op ‘shoot’

Table 81: Transitive verb rot ‘hit a target’

non-past past imperative non-past  |past imperative
1s>3s ?o0bu Pobuta 1s>3s rodu ro:a
1s>3D ?obusu Pobutasu 1s>3D rodusu roitasu
1s>3p ?obunu Pobutanu 1s>3p rodunu ro:tanu
1pr>3 2epi Pepiti 1pr>3 retsi resti
1DE>3 2epu Yeputu 1DE>3 retsu restu
1p1>3 ?00pki Pooptiki 1p1>3 roocki rooctiki
1PE>3 ?00pka P0optaka 1PE>3 roocka roogtaka
28>3s ?i?6:bu ?i?6:pte ?8:be 28>3s ?iré:du ?iré:te ré:de
2s8>3D ?i?6:psu ?i?6:ptesu 2s8>3D ?iré:tsu ?iré:tesu
28>3p ?i?6:pnu ?i?6:ptenu 28>3p ?iré:tnu ?iré:tenu
2D>3 ?i?epi ?i?epiti Pepije 2D>3 ?Piretsi ?Piresti retsije
2N>3 ?i?0dmni  |?i?eptenu |?epnuje 2N>3 ?irodnni  |?irestenu |resnuje
3s>3s ?8:bu ?8:pte 3s>3s ré:du réite
3>3(D) ?6:psu ?6:ptesu 3>3(D) ré:tsu réitesu
3>3(p) ?6:pnu ?6:ptenu 3>3(p) ré:tnu réitenu
2/38>1s ?i?0dmpa  [?i?epata  |?epaje 2/38>1s ?irodjna  |?iresta retsaje
2/3D>1s  |?i?05mpasu |?i?epatasu |?epasuje 2/3D>1s ?irodjpasu |?irestasu |retsasuje
2/3p>1s ?i?0dmpanu |?i?epatanu |?epanuje 2/3p>1s ?irodjpanu |?irestanu |retsanuje
2/3>1DI ?i?epi ?i?epiti 2/3>1DI ?Piretsi Piresti
2/3>1DE  |?i?epu ?i?eputu  |?epuje 2/3>1DE Piretsu Pirestu retsuje
2/3>1p1 ?i?00pki ?i?ooptiki 2/3>1p1 ?iroocki  |?irooctiki
2/3>1PE ?i?0opka  [?i?00ptaka |200pkaje 2/3>1PE ?iroocka  |?irooctaka |roockaje
3,1D/PE>2S |?i?00p ?itepte 3,1D/PE>2S |?irojj ?Pireste
3,1D/PE>2D |?i?epi ?i?epiti 3,1D/PE>2D |?iretsi Piresti
3,1D/PE>2P |?i?205mni ?i?eptenu 3,1D/PE>2P |?irodnni Pirestenu
1s>2s ?05mne ?05mteni 1s>2s rodnne rodnteni
1s>2D ?05msu ?05mtensu 1s>2D rodnsu rodntensu
1s>2p ?05mnu ?05mtennu 1s>2p rodnnu rodntennu
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Table 83: Transitive verb lom ‘look for’

non-past  |past imperative non-past  |past imperative
1s>3s phrogu phroguta 1s>3s lomu lomuta
1s>3D phrogusu  |phrogutasu 1s>3D lomusu lomutasu
1s>3p phrogunu  |phrogutanu 1s>3p lomunu lomutanu
1pr>3 phreki phrekiti 1pr>3 lemi lemiti
1DE>3 phreku phrekutu 1DE>3 lemu lemutu
1p1>3 phrokki phroktiki 1p1>3 loomki loomtiki
1PE>3 phrokka  |phroktaka 1PE>3 loomka loomtaka
28>3s ?iphré:ge  |?iphréikte  |phré:ge 28>3s ?ilemma ?ilémte 18:me
2s8>3D ?iphréiksu |?iphré:ktesu 2s8>3D ?ilémsu ?ilémtesu
28>3p ?iphré:knu |?iphré:ktenu 28>3p ?ilémnu ?ilémtenu
2D>3 ?iphreki  |?iphrekiti  |phrekije 2D>3 ?ilemi ?ilemiti lemije
2N>3 ?iphrémi  |?iphrektenu |phreknuje 2N>3 ?iloomni  |?ilemtenu |lemnuje
3s>33 phré:ga phrékte 3s>383 le:mu 16mte
3>3(p) |phréiksu  |phréiktesu 3>3(D) Iémsu 16mtesu
3>3(p) phréknu  |phré:ktenu 3>3(p) 16émnu 16mtenu
2/3s>1s |?iphroma  |?iphrekata |phrekaje 2/38>1s ?iloompa  |?ilemata  |lemaje
2/3D>1s |?iphromgasu | 2iphrekatasu |phrekasuje 2/3D>1s ?iloompasu |?ilematasu |lemasuje
2/3p>1s |?iphrompanu|?iphrekatanu|phrekanuje| |2/3p>1s ?iloompanu |?ilematanu |lemanuje
2/3>1p1  |?iphreki  |?iphrekiti 2/3>1DI ?ilemi ?ilemiti
2/3>1DE |?iphreku |?iphrekutu |phrekuje 2/3>1DE  |?ilemu ?ilemutu  |lemuje
2/3>1p1  |?iphrokki |?iphroktiki 2/3>1p1 ?iloomki  |?iloomtiki
2/3>1PE |?iphrokka |?iphroktaka |phrokkaje 2/3>1PE ?iloomka  |?iloomtaka |loomkaje
3,1D/PE>2s | ?iphrd: ?iphrekte 3,1D/PE>2S |?iloom ?ilémte
3,1D/PE>2D|?iphreki  |?iphrekiti 3,1D/PE>2D |?ilemi ?ilemiti
3,1D/PE>2P |?iphr&:ni  |?iphrektenu 3,1D/PE>2P |?iloomni  |?ilemtenu
1s>2s phrdine phronteni 1s>2s loomne loomteni
1s>2D phrénsu  |phrontensu 1s>2D lodmsu loomtensu
1s>2p phréonnu  |phrontennu 1s>2p lodmnu loomtennu
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Table 84: Transitive verb tsoy ‘add’ Table 86: Transitive verb tol ‘push’
non-past  |past imperative non-past  |past imperative
1s>3s tsonu tsoguta 1s>3s tolu toluta
1s>3D tsogusu tsonutasu 1s>3D tolusu tolutasu
1s>3p tsopunu  |tsonutanu 1s>3p tolunu tolutanu
1pr>3 tseni tseniti 1pr>3 teli teliti
1DE>3 tsenu tsenutu 1DE>3 telu telutu
1p1>3 tsopki tsoptiki 1p1>3 toolki tooltiki
1PE>3 tsopka tsontaka 1PE>3 toolka tooltaka
28>3s Pitséipm  |Pitsénte tséime 28>3s ?iteilw ?itélte te:le
2s8>3D ?itsépsu  |?itséptesu 2s8>3D ?itélsu ?itéltesu
28>3p ?itsépnu  |?itséptenu 28>3p ?itélnu ?itéltenu
2D>3 ?Pitseni ?itseniti tsenije 2D>3 ?iteli ?iteliti telije
2N>3 ?itsoini ?itsentenu  |tsennuje 2N>3 ?itoolni ?iteltenu  |telnuje
3s>3s tseink tsénte 3s>3s to:lu télte
3>3(D) |tsépsu tséntesu 3>3(D) télsu téltesu
3>3(p)  |tsépgnu tséytenu 3>3(p) télnu téltenu
2/38>1s ?itoolna  |?itelata  |telaje
Table 85: Transitive verb khor ‘fry’ 2/3D>1s Pitoolnasu |[Pitelatasu |[telasuje
non-past  |past imperative 2/3p>1s ?itoolganu |?itelatanu |telanuje
1s>3s khoru khoruta 2/3>1DI1 Piteli Piteliti
1s>3D khorusu khorutasu 2/3>1DE Pitelu Pitelutu teluje
1s>3p khorunu khorutanu 2/3>1p1 Pitoolki Pitooltiki
1pr>3 kheri kheriti 2/3>1PE ?itoolka  |?itooltaka |toolkaje
1DE>3 kheru kherutu 3,1D/PE>2S |?itool ?itélte
1p>3 khoorki khoortiki 3,1D/PE>2D |?iteli Piteliti
1PE>3 khoorka khoortaka 3,1D/PE>2P |?itoolni Piteltenu
28>3s ?ikhéirs  |?ikhérte khé:re 18>2s8 toolne toolteni
2s>3D  |?ikhérsu  |?ikhértesu 1s>2D todlsu tooltensu
2s>3p ?ikhérnu  |?ikhértenu 1s>2p todlnu tooltennu
2D>3 ?ikheri ?ikheriti kherije
2N>3 ?ikhoorni |?ikhertenu |khernuje
3s>3s khé:ra khérte
3>3(D) |khérsu khértesu
3>3(p)  |khérnu khértenu
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Table 88: Transitive verb bhrott ‘call’

non-past  |past imperative non-past  |past imperative
1s>3s sooptu S0optA 1s>3s bhroottu  [bhrootta
1s>3D sooptusu  [sooptasu 1s>3D bhroottusu |bhroottasu
1s>3p sooptunu  |sooptanu 1s>3p bhroottunu |bhroottanu
1p>3 sepi sepiti 1p>3 bhretsi bhresti
1DE>3 sepu seputu 1DE>3 bhretsu bhrestu
1p1>3 soopki sooptiki 1p1>3 bhroocki  |bhrooctiki
1PE>3 soopka sooptaka 1PE>3 bhroocka  [bhroogtaka
28>3s ?isoopta ?isoopte  [soopte 28>3s ?ibhrootte |?ibhrootte  [bhrootte
2s8>3D ?isoopsu  |?isooptesu 2s8>3D ?ibhrootsu |?ibhroottesu
2s>3p ?isoopnu  |?isooptenu 2s>3p ?ibhrootnu |?ibhroottenu
2D>3 ?isepi ?isepiti sepije 2D>3 ?ibhretsi  |?ibhresti bhretsije
2N>3 ?isodmni  |?iseptenu [sepnuje 2N>3 ?ibhrodnni |?ibhrestenu |bhresnuje
3s>3s soopta soopte 3s>3s bhrootts  |bhrootte
3>3(D) soopsu sooptesu 3>3(D) bhrootsu  [bhroottesu
3>3(p) soopnu sooptenu 3>3(p) bhrootnu  |bhroottenu
2/38>1s ?isodmpa  |?isepata  [sepaje 2/3s>1s |?ibhrodjpa |?ibhresta bhretsaje
2/3D>1s  |?isodmmnasu |?isepAtasu [sepasuje 2/3D>1s  |?ibhro3jpasu |?ibhrestasu  |bhretsasuje
2/3p>1s ?isodmpanu |?isepatanu [sepanuje 2/3p>1S  |?ibhro3jpanu |?ibhrestanu  |bhretsanuje
2/3>1DI ?isepi ?Pisepiti 2/3>1p1  |?ibhretsi  |?ibhresti
2/3>1DE  |?isepu ?iseputu  [sepuje 2/3>1DE |?ibhretsu |?ibhrestu  |bhretsuje
2/3>1p1 ?isoopki ?isooptiki 2/3>1p1  |?ibhroogki |?ibhroogtiki
2/3>1PE ?isoopka  |?isooptaka [soopkaje 2/3>1PE |?ibhroogka |?ibhrooctaka|bhroockaje
3,1D/PE>2S |?isoop ?isepte 3,1D/PE>2s |?ibhrojj ?ibhreste
3,1D/PE>2D |?isepi ?Pisepiti 3,1D/PE>2D |?ibhretsi  |?ibhresti
3,1D/PE>2P |?isodmni ?iseptenu 3,1D/PE>2P |?ibhrodnni |?ibhrestenu
1s>2s sodmne sodmteni 1s>2s bhrodnne  [bhrodnteni
1s>2D sodmsu sodmtensu 1s>2D bhrodnsu  [bhrodntensu
1s>2p sodmnu sodmtennu 1s>2p bhrodnnu  |bhrodntennu
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Table 89: Transitive verb fiokt ‘shout at’

Table 91: Transitive verb bont ‘touch’

non-past |past imperative non-past  |past imperative
1s>3s foktu fokta 1s>3s boondu bointa
1s>3D fAoktusu  |foktasu 1s>3D boondusu  [bo3ntasu
1s>3p fAoktunu  |foktanu 1s>3p boondunu [bo3ntanu
1p1>3 feki Aekiti 1p>3 bé:tsi ba:sti
1DE>3 fieku fekutu 1DE>3 bé:tsu bé:stu
1p1>3 fokki Aoktiki 1p1>3 boojki boojtiki
1PE>3 fiokka foktaka 1PE>3 boojka boojtaka
2s>3s Pifiokte  |?ifiokte fokte 2s>3s ?iboondw |?ibodnte  |boonde
2s>3D Pifioksu  |?ifioktesu 2s>3D ?ibodnsu  |?ibodntesu
2s>3p ?ifioknu  |?ifioktenu 2s>3p ?ibodnnu  |?ibodntenu
2D>3 ?ifieki ?ifekiti fiekije 2D>3 ?ibé:tsi ?iba:sti ba:tsije
2N>3 ?if0mi Pifiektenu  |Aeknuje 2N>3 ?iboojni ?ibé:stenu  |bé:snuje
3s>3s Aokte fokte 3s>3s boonds bodnte
3>3(D) fioksu foktesu 3>3(D) bobnsu bodntesu
3>3(p) foknu foktenu 3>3(p) bobnnu bodntenu
2/3s>1s ?ifdma Pifiekata  [fAekaje 2/3s>1s ?iboojna  |?ibéista bé:tsaje
2/3D>1s ?ifidmasu  |?ifiekatasu |Aekasuje 2/3D>1s ?iboojnyasu |?ibé:stasu  |béitsasuje
2/3p>1s ?ifidmanu |?ifiekatanu |fiekanuje 2/3p>1s ?iboojpanu |?ibé:stanu  |[bé:tsanuje
2/3>1DI1 Pifieki Pifiekiti 2/3>1DI1 ?ibeétsi ?ibé:sti
2/3>1DE ?ifieku ?ifiekutu  |Aekuje 2/3>1DE  |?ibéitsu ?ibé:stu bé:tsuje
2/3>1p1 Pifiokki Pifioktiki 2/3>1p1 ?iboojki ?iboojtiki
2/3>1PE Pifiokka |?ifioktaka |Aokkaje 2/3>1PE ?iboojka  |?iboojtaka |boojkaje
3,1D/PE>2S |?iA0: Pifiekte 3,1D/PE>2S |?ibo9j ?ibé:ste
3,1D/PE>2D |?ifieki Pihekiti 3,1D/PE>2D |?ibé:tsi ?ibé:sti
3,1D/PE>2P |?ifi0mi ?ifektenu 3,1D/PE>2P |?iboojni ?ibé:stenu
1s>2s Ad:ne Adnteni 1s>2s boojne boojteni
1s>2D Adnsu Adntensu 1s>2D bojjsu boojtensu
1s>2p Adnnu Adntennu 1s>2p bodjnu boojtennu

Table 90: Detransitive verb Pomt ‘ripen’

non-past

past

3s

?0omdu

?05mte
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Table 92: Transitive verb noyt ‘accuse’ Table 93: Transitive verb dhort ‘be useful for’
non-past |past imperative non-past past imperative

1s>3s nondu nonta 1s>3s dhoordu dhobrta
1s>3D nondusu |ndntasu 1s>3D dhoordusu  |dho3rtasu
1s>3p nondunu |ndntanu 1s>3p dhoordunu |dhodrtanu
1pr>3 neyi neyiti 1pr>3 dheri dheriti
1DE>3 nenu nenutu 1DE>3 dheru dherutu
1p1>3 nonki nontiki 1p1>3 dhoorki dhoortiki
1PE>3 nonka nontaka 1PE>3 dhoorka dhoortaka
28>3s ?inondw  |?indnte nonde 28>3s ?idhoorde |?idhodrte  |dhoorde
2s8>3D ?inénsu  |?indntesu 2s8>3D ?idhodrsu  |?idhojrtesu
28>3p ?inénnu | ?indntenu 28>3p ?idhodrnu  |?idhojrtenu
2D>3 ?ineni ?ineniti nenjije 2D>3 ?idheri ?idheriti dherije
2N>3 ?ind:ni ?inentenu  |neynuje 2N>3 ?idhoorni  |?idhertenu |dhernuje
3s>3s nondw nonte 3s>3s dhoordwe dhodrte
3>3(D) noénsu nontesu 3>3(D) dhojrsu dhodrtesu
3>3(p) nénnu ndntenu 3>3(p) dhobrnu dhojrtenu
2/38>1s ?indipA ?inenata  |nepaje 2/38>1s ?idhoorpa  |?idherata |dheraje
2/3D>1s ?ind:gasu  |?inenatasu |nepasuje 2/3p>1s  |?idhoorpasu |?idheratasu [dherasuje
2/3p>1s ?ind:panu |?inenatanu [nepanuje 2/3p>1s ?idhoorganu|?idheratanu|dheranuje
2/3>1DI ?ineni ?ineniti 2/3>1DI ?idheri ?idheriti
2/3>1DE ?inenu ?inenutu  |nenuje 2/3>1DE  |?idheru ?idherutu  |dheruje
2/3>1p1 ?inopki  |?inontiki 2/3>1p1 ?idhoorki  |?idhoortiki
2/3>1PE ?inopka  |?inontaka |nopkaje 2/3>1PE  |?idhoorka |?idhoortaka |dhoorkaje
3,1D/PE>2S |?inopy ?inénte 3,1D/PE>2S |?idhoor ?idhérte
3,1D/PE>2D |?ineni ?ineniti 3,1D/PE>2D|?idheri ?idheriti
3,1D/PE>2P |?in0:ni ?inentenu 3,1p/PE>2P |?idhoorni  |?idhertenu
1s>2s no:ne nonteni 1s>2s dhoorne dhoorteni
1s>2D noénsu nontensu 1s>2D dhodrsu dhoortensu
1s>2p nénnu nontennu 1s>2p dhojrnu dhoortennu
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Table 94: Transitive verb kolt ‘chase’

Table 95: Intransitive verb su ‘itch’

non-past  |past imperative non-past past imperative
1s>3s kooldu ko3lta Is sanA SenAtA
1s>3D kooldusu  |koAltasu D1 suji séiti
1s>3p kooldunu  |koAltanu IDE sgju séitu
1pr>3 keli keliti Ip1 suki suktiki
1DE>3 kelu kelutu 1PE sakA saktaka
1p1>3 koolki |kooltiki 2s tisw tistite stije
1PE>3 koolka kooltaka 2D Piswji Piséiti sdije
25235 [tikooldu |Pikodlte |koolde N |iseni fisutnu - |slinje
25230 [Pikodlsu  |?ikodltesu 3 s4 stite
25>3p  [Pikodlnu  |?ikoSltenu 3D |suji saiti
20>3 Pkeli  |?ikeliti  |kelije 3N |senu sutnu
2N>3 ?ikoolni ?ikeltenu |kelnuje
35535 kooldu Kko3lte Table 96: Intransitive verb fiut ‘burn’
3>3(D)  |kodlsu  |kodltesu non-past _ |past
3>3(p)  |kodlnu  |kodltenu 3s fiAj fiaste
2/38>1s ?ikoolnpa  |?ikelata  |kelaje
2/30>1s 2ikoolgasu |?ikelatasu [kelasuje Table 97: Intransitive verb dzhuk. ‘escap&?’
2/3p>1s ?ikoolganu |?ikelatanu |[kelanuje non-past past imperative
2/3>Ip1 |tikeli  [?ikeliti Is  |dzhtipadzhukata
23>1pE  |%ikelu  [?ikelutu |keluje ot (dzheki - dzhekiti
23>1p [?ikoolki  |2ikooltiki IDE |dzhuku | dzhukutu
23>1pE |tikoolka  [?ikooltaka [koolkaje | |[FT [d7hukki - jdzhuktiki
3.1D/PE>2s [Pikool  |?ikélte IPE - |dzhukka | dzhuktaka _
3,1D/PE>2D [tikeli  [?ikeliti s Jtidzhl: o ffidzhekte - dzhekje
3 1n/pE>2p |2ikoslni 9ikeltenu 2D ?idzhuki ?idzhekiti  |dzhekije
> - 2N ?idzhtini  |?idzhuktenu |dzhuknuje
1s>2s koolne koolteni 35 dzhi: dzhukte
1s>2D ko3lsu kooltensu 3D dzhuki dzhukiti
1s>2p ko5lnu kooltennu 3N dzhii:nu dzhuktenu
Table 98: Intransitive verb ghrum ‘be tired’
non-past past imperative
Is ghrampa  |ghremata
1D1 ghrami ghramiti
1DE ghramu ghramutu
1p1 ghramki ghramtiki
1PE ghramka  |ghramtaka
2s ?ighram ?ighrémte  |ghrémje
2D ?ighrami  |?ighremiti  |ghramije
2N ?ighramni |?ighremtenu |ghramnuje
3s ghram ghréimte
3D ghrami ghramiti
3N ghramnu  |ghramtenu
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Table 101: Transitive verb 2u ‘take care’

non-past past imperative non-past |past imperative
Is khajpa khista Is HnA Hmta
1DI1 khatsi khasti 1DI1 wji it
1DE kh&:tsu kh#:stu 1DE wju it
1p1 khajki khajtiki 1p1 Puki Puktiki
1PE khajka khajtaka 1PE uka Puktaka
2s ?ikhaj ?ikhiste khiutse 2s ?ita ?itute Tnje
2D Pikh#tsi Pikhasti kha:tsije 2D ?itwji 218t ije
2N ?ikhajni ?ikhastenu  |khé:snuje 2N ?i?ani ?i?utnu ?0nje
3s khaj khiuste 3s P Pute
3D kh#tsi khasti 3D usu Putsu
3N khajnu khi:stenu 3N unu utnu
2/38>1s ?itana ?itagata  |PenAje
Table 100: Intransitive verb ghur ‘run’ 2/3p>1s ?itanAsu  |i?EnAtAsu | PenAsuje
non-past past imperative 2/3p>1s ?it%enAnu  |?i?EnAtAnu |PEnAnuje
1s gharna ghurata 2/3>1DI1 ?itwji 218t
1DI ghuri ghuriti 2/3>1DE ?iteju ?i8itu Puije
1DE ghuru ghurutu 2/3>1pI uki i uktiki
1P gharki ghartiki 2/3>1PE ?itaka Pitaktaka  |2ukaje
1PE gharka ghartaka 3,1D/PE>2S |?ita Pi0te
28 Qighar Qighdirte ghéirje 3,1D/PE>2D |?i74ji 218t
2D Qighuri Qighuriti ghurije 3,1D/PE>2P |?i7uni ?i?utnu
2N 2igharni Qighartenu  |ghurnuje 1s>2s 2une 2énteni
3s ghar ghérte 1s>2D ‘Pénsu ‘Péntensu
3D ghuri ghuriti 1s>2p énnu Péntennu
3N gharnu ghurtenu
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Table 102: Transitive verb gup ‘hide’

Table 103: Transitive verb lut ‘tell’

non-past  |past imperative non-past |past imperative
1s>3s gubu gubuta 1s>3s ludu JLIHTN
1s>3D gubusu gubutasu 1s>3D ludusu la:tasu
1s>3p gubunu gubutanu 1s>3p ludunu Itztanu
1p>3 gapi gapiti 1p>3 latsi Lasti
1DE>3 gapu gaputu 1DE>3 latsu lastu
1p1>3 gapki gaptiki 1p1>3 lagki Iagtiki
1PE>3 gapka gaptaka 1PE>3 lagka lagtaka
28>3s Yighba Pighipte giibe 28>3s Pileda Pildute l&de
2s8>3D Pighipsu | ?igiiptesu 2s8>3D Piletsu ?iletesu
28>3p ?iglpnu  |?igliptenu 28>3p ?iletnu ?ilétenu
2D>3 Pigupi Pigupiti guapije 2D>3 Pilutsi Pilasti lutsije
2N>3 ?igAmni Piguptenu  |gupnuje 2N>3 ?ilAnni ?ilastenu  |lasnuje
3s>3s giibu ghipte 3s>3s ladu ltute
3>3(D) giipsu ghiptesu 3>3(D) l#tsu ltutesu
3>3(p) glipnu glptenu 3>3(p) l&tnu l&itenu
2/38>1s ?igAmna  |?igepAta  |gupaje 2/38>1s ?ilAjna Pilasta latsaje
2/3D>1s ?igAmnasu |?igepAtasu |gupasuje 2/3D>1s ?ilAjpasu  |Pilastasu  |lutsasuje
2/3p>1s ?igAmnanu |?igepAtanu |gapanuje 2/3p>1s ?ilAjpanu  |?ilastanu  |latsanuje
2/3>1DI Pigupi Pigupiti 2/3>1DI Pilutsi Pilasti
2/3>1DE  |?igapu Piguputu  |gupuje 2/3>1DE Pilutsu Pilastu latsuje
2/3>1p1 Pigapki Pigaptiki 2/3>1p1 ?ilacki ?ilactiki
2/3>1PE ?igapka Pigaptaka |gapkaje 2/3>1PE ?ilacka Pilactaka |lagkaje
3,1D/PE>2S |?igAp Pigupte 3,1D/PE>2S |?ilAj Piluste
3,1D/PE>2D |?igapi Pigupiti 3,1D/PE>2D |?ilutsi Pilasti
3,1D/PE>2P |?igAmni Piguptenu 3,1D/PE>2P |?ilAnni ?ilastenu
1s>2s gAmne gAmteni 1s>2s 1Anne IAnteni
1s>2D gAmsu gAmtensu 1s>2D 1Ansu IAntensu
1s>2p gAmnu gAmtennu 1s>2p 1Annu IAntennu
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Table 104: Transitive verb phuk ‘wake up’ Table 105: Transitive verb dum ‘meet’
non-past  |past imperative non-past  |past imperative
1s>3s phugu phuguta 1s>3s dumu dumuta
1s>3D phugusu  |phugutasu 1s>3D dumusu  |dumutasu
1s>3p phugunu  |phugutanu 1s>3p dumunu  |dumutanu
1pr>3 phuki phukiti 1pr>3 dami damiti
1DE>3 phuku phukutu 1DE>3 demu demutu
1p1>3 phukki phuktiki 1p1>3 damki damtiki
1PE>3 phukka phuktaka 1PE>3 damka damtaka
28>3s ?iphtige  |?iphétkte  |phiige 28>3s ?idma  |?idémte dizme
2s8>3D ?iphétksu  |?iphéktesu 2s8>3D ?idémsu  |?idémtesu
2s>3p ?iphétknu  |?iphétktenu 2s>3p ?idémnu  |?idémtenu
2D>3 ?iphuki ?iphukiti phukije 2D>3 ?idumi Pidumiti duemije
2N>3 ?iphttni  |?iphuktenu |phuknuje 2N>3 ?idamni  |?idemtenu |demnuje
3s>3s phi:ga phitkte 3s>3s dema démte
3>3(D) phitksu  |phétktesu 3>3(D) démsu démtesu
3>3(p) phitknu  |phétktenu 3>3(p) démnu démtenu
2/38>1s ?iphtinpa  |?iphukata  |phukaje 2/38>1s ?idampa  |?idemata  |dumaje

2/3p>1s  |?iphiigasu |?iphakatasu |phakasuje 2/3p>1s  |?idampasu |?idematasu |demasuje
2/3p>1s ?iphlznanu |?iphakatanu |phakanuje 2/3p>1s ?idampanu |?idematanu |demanuje

2/3>1DI ?iphuki Piphukiti 2/3>1DI ?idumi Pidumiti

2/3>1DE  |?iphwsku  |?iphekutu |phukuje 2/3>1DE  |?idemu ?idemutu  |demuje
2/3>1p1 ?iphukki  |?iphuktiki 2/3>1p1 ?idamki  |?idamtiki

2/3>1PE ?iphukka |?iphuktaka |phukkaje 2/3>1PE ?idamka  |?idamtaka |damkaje
3,1D/PE>2s |?iphi: ?iphukte 3,1D/PE>2S |?idam ?idémte

3,1D/PE>2D (?iphuki Piphukiti 3,1D/PE>2D |?idami Pidumiti

3,1D/PE>2P |?iphlini  |?iphuktenu 3,1D/PE>2P |?idamni  |?idemtenu

1s>2s phiine phiinteni 1s>2s damne damteni

1s>2D phlinsu phlintensu 1s>2D dAmsu damtensu

1s>2p phlinnu phlintennu 1s>2p dAmnu damtennu
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Table 106: Transitive verb fiuy ‘wait’

Table 107: Transitive verb sur ‘wash’

non-past |past imperative non-past |past imperative
1s>3s funu Aunuta 1s>3s suru suruta
1s>3D Aunusu Aunutasu 1s>3D surusu surutasu
1s>3p fununu  |fugutanu 1s>3p surunu surutanu
1pr>3 funi Aumiti 1pr>3 suri suriti
1DE>3 funu Aunutu 1DE>3 saru sarutu
1p1>3 Aunki Auntiki 1p1>3 sarki sartiki
1PE>3 Aunka Auntaka 1PE>3 sarka sartaka
28>3s Pifigge  |?ifidnte f@ne 28>3s Pistira Pistrte sire
2s8>3D ?ifigsu | ?ififigtesu 2s8>3D Pis@irsu Pistrtesu
28>3p ?ifinnu  |?ififigtenu 28>3p ?is@irnu ?istrtenu
2D>3 ?ifuni ?iAumiti funije 2D>3 Pisari Pisuriti surije
2N>3 ?iAtini ?ifiugtenu  |fugnuje 2N>3 ?isArni ?isurtenu  |surnuje
3s>33 JitEeiits Afigte 3s>383 sty sérte
3>3(D) finsu Afintesu 3>3(D) sérsu sértesu
3>3(p) Afignu Afintenu 3>3(p) sérnu sértenu
2/38>1s ?iAtiA Pifiunata  |fugaje 2/38>1s ?isarga Pisurata saraje
2/3D>1s ?iftigasu |?ifispatasu |fenasuje 2/3D>1s ?isArpasu  |?isuratasu |swarasuje
2/3p>1s ?iftinanu |?ifisgatanu |fenanuje 2/3p>1s ?isarganu |?isaratanu |saranuje
2/3>1DI ?iAuni Pifumiti 2/3>1DI Pisuri Pisuriti
2/3>1DE ?ifugu ?ifisgutu  |fuguje 2/3>1DE Pisaru Piswrutu  |suruje
2/3>1p1 ?ifupki | ?ifiugtiki 2/3>1p1 ?isarki ?Pisartiki
2/3>1PE ?ifiugka  [?ifiugtaka  |Aupkaje 2/3>1PE Pisarka Pisartaka  |sarkaje
3,1D/PE>2S |?ifiup ?ifdnte 3,1D/PE>2S |?isAr Pistrte
3,1D/PE>2D |?ifuni Pifumiti 3,1D/PE>2D |?isuri Pisuriti
3,1D/PE>2P |?ifitiini Pifiagtenu 3,1D/PE>2P |?isarni Pisurtenu
1s>2s Atine funteni 1s>2s SATNE sarteni
1s>2D Adnsu fiuntensu 1s>2D SArsu sArtensu
1s>2p Alnnu funtennu 1s>2p sArnu sartennu
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Table 108: Transitive verb gul ‘cover’ Table 109: Transitive verb fiutt
non-past |past imperative ‘burn, reveal the culprit’

1s>3s gulu guluta non-past |past imperative
1s>3D gulusu gulutasu 1s>3s Aattu Aatta
1s>3p gulunu gulutanu 1s>3D Aattusu AAttasu
1pr>3 gali guliti 1s>3p Aattunu Aattanu
1DE>3 galu galutu 1p>3 Autsi Austi
1p>3 galki galtiki 1DE>3 Autsu fustu
1PE>3 galka galtaka 1p1>3 Aacki Aactiki
28>3s tigtla Pighlte gitle 1PE>3 fAacka Aactaka
2s8>3D Pighlsu ?ighltesu 28>3s PifAtta ?ifiatte fatte
2s>3p ?ighlnu  |?igéltenu 2s8>3D ?ifiatsu ?ifiattesu
2D>3 Piguli Piguliti gulije 28>3p ?ifiatnu ?ifiattenu
2N>3 ?igalni ?igultenu  |gulnuje 2D>3 ?ifutsi ?ifusti futsije
3s>33 giila gilte 2N>3 ?ifiAnni ?ifisstenu  |fmsnuje
3>3(D) gélsu giiltesu 3s>3s Aatta fatte
3>3(p) gilnu gitltenu 3>3(D) Aatsu Aattesu
2/38>1s ?igalpa  |Pigulata  |gulaje 3>3(p) Aatnu Aattenu
2/3D>1s ?igalpasu |Pigulatasu |gulasuje 2/38>1s ?iAAjna ?ifusta futsaje
2/3p>1s ?igalpanu |?igalatanu |gelanuje 2/3D>1s ?iAAjnasu |?ifiwstasu  |fiatsasuje
2/3>1DI1 Pigali Pigaliti 2/3p>1s ?ifiAjyanu  |Pifiwstanu  |Autsanuje
2/3>1DE Pigulu Pigulutu  |guluje 2/3>1DI Pifutsi ?ifusti
2/3>1p1 Pigalki Pigaltiki 2/3>1DE ?ifutsu ?ifustu futsuje
2/3>1PE Pigalka Pigaltaka  |galkaje 2/3>1p1 ?ifiacki Pifactiki
3,1D/PE>2S |?igal Pighlte 2/3>1PE ?ifiacka  |?ifiactaka |fagkaje
3,1D/PE>2D |?iguli Piguliti 3,1D/PE>2S |?ifiAj ?ifuste
3,1D/PE>2P |?igalni ?igultenu 3,1D/PE>2D |?ifimtsi ?ifusti
1s>2s galne galteni 3,1D/PE>2P |?ifAnni ?iAustenu
1s>2D gAlsu galtensu 1s>2s AAnne AAnteni
1s>2p gAlnu galtennu 1s>2D fAnsu AAntensu

1s>2p AAnnu AAntennu
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Table 110: Transitive verb kukt

Table 111: Transitive verb tumt ‘follow tracks’

‘bend; take revenge’ non-past  |past imperative
non-past |past imperative 1s>3s tamdu tAmta
1s>3s kuktu kukta 1s>3D tamdusu  [tAmtasu
1s>3D kuktusu  |kuktasu 1s>3p tamdunu  |[tAmtanu
1s>3p kuktunu  |kuktanu 1p>3 temi temiti
1pr>3 kaki kakiti 1DE>3 tamu tamutu
1DE>3 kuku kukutu 1pr>3 tamki tamtiki
1pr>3 kukki kuktiki 1PE>3 tamka tamtaka
1PE>3 kukka kuktaka 2s>3s ?itamde  |?itAmte tamde
28>3s ?ikukte  |?ikukte kukte 2s8>3D ?itAmsu  |?itAmtesu
2s>3D Pikuksu  |?ikuktesu 2s>3p ?itAmnu  |?itAmtenu
2s>3p Pikuknu  |?ikuktenu 2D>3 Pitami Pitamiti temije
2D>3 ?ikuki Pikukiti kukije 2N>3 ?itamni ?itamtenu  |temnuje
2N>3 ?iktini ?ikuktenu  |kuknuje 3s>3s tamdu tAmte
3s>3s kukte kukte 3>3(D) tAmsu tAmtesu
3>3(D) kuksu kuktesu 3>3(p) tAmnu tAmtenu
3>3(p) kuknu kuktenu 2/3s>1s ?itamnpa  [Pitemata  |temaje
2/38>1s ?iktiga Pikukata  |kukaje 2/3D>1s ?itampasu |?itematasu |tamasuje
2/3D>1s ?iktipasu |?ikekatasu |kukasuje 2/3p>1s ?itampanu |?itematanu |temanuje
2/3p>1s ?iktipanu |?ikekatanu |kukanuje 2/3>1DI Pitemi Pitemiti
2/3>1DI1 Pikaki Pikukiti 2/3>1DE Pitemu Pitemutu  |temuje
2/3>1DE ?ikuku Pikukutu  |kekuje 2/3>1p1 ?itamki Pitamtiki
2/3>1p1 Pikukki Pikuktiki 2/3>1PE ?itamka  |?itamtaka |[tamkaje
2/3>1PE ?ikukka |?ikuktaka |kukkaje 3,1D/PE>2S |[?itam Pitémte
3,1p/PE>2s |?ikii: Pikukte 3,1D/PE>2D |?itumi Pitamiti
3,1D/PE>2D |?ikuki Pikukiti 3,1D/PE>2P |?itAmni Pitamtenu
3,1p/PE>2P |?ik{ini Pikaktenu 1s>2s tamne tamteni
1s>2s kiine kanteni 1s>2D tAmsu tamtensu
1s>2D kiinsu klintensu 1s>2p tAmnu tAmtennu
1s>2p kinnu kintennu
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Table 113: Transitive verb thuyt ‘stab’

‘take off (clothes)’ non-past |past imperative
non-past  |past imperative 1s>3s thundu thiinta
1s>3s  |phlandu phlAnta 1s>3D thundusu |thGintasu
1s>3D  |phlandusu |phlAntasu 1s>3p thundunu  |thintanu
1s>3p  |phlandunu |phlintanu 1pr>3 thani theniti
Ipr>3  |phltsi phlasti 1DE>3 thanu thanutu
1IDE>3  |phl&tsu phlastu 1p1>3 thupki thuptiki
1p1>3 phlajki phlajtiki 1PE>3 thupka thuptaka
1PE>3  |phlajka phlajtaka 28>3s ?ithunde |?ithnte thunde
2s>3s  |?iphlanda |?iphlAnte phlande 2s8>3D ?ithtinsu | ?ithlintesu
2s>3D  |?iphlAnsu |?iphlAntesu 28>3p ?ithtinnu | ?ithGintenu
2s>3p  |?iphlAnnu |?iphlAntenu 2D>3 Pithuni Pithayiti thanije
2D>3 ?iphletsi  |?iphlasti phl#tsije 2N>3 ?ithti:ni ?ithuntenu  |thupnuje
2N>3 ?iphlajni  |?iphlistenu |phl&snuje 3s>3s thundua thiinte
3s>3s  |phlande phlinte 3>3(D) thiinsu thiintesu
3>3(p) |phlAnsu phlAntesu 3>3(p) thiinnu thiintenu
3>3(p) |phlAnnu phlAntenu 2/38>1s ?ithtina  |?ithunata  [thupaje
2/3D>1s ?ithtigasu |?ithenatasu |thuenasuje
2/3p>1s ?ithtiganu |?ithenatanu |thenanuje
2/3>1DI ?ithuni ?Pithuniti
2/3>1DE Pithugu Pithegutu  |thuguje
2/3>1p1 ?ithupki | ?ithuptiki
2/3>1PE ?ithupka |?ithuntaka |thupkaje
3,1D/PE>2s |?ithuy Pithénte
3,1D/PE>2D |?ithuni ?Pithuniti
3,1D/PE>2P |?ithiini Pithagtenu
1s>2s thii:ne thunteni
1s>2D thinsu thuntensu
1s>2p thinnu thuntennu
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Table 114: Transitive verb kurt ‘bring for’

non-past past imperative
1s>3s kardu kArta
1s>3D kardusu kArtasu
1s>3p kardunu kArtanu
1p>3 kari kariti
1DE>3 karu karutu
1p1>3 karki kartiki
1PE>3 karka kartaka
2s>3s Pikardaw PikArte karde
2s>3D PikArsu ?ikArtesu
2s>3p ?ikArnu PikArtenu
2D>3 Pikari Pikariti kurije
2N>3 Pikarni Pikartenu  |kwrnuje
3s>3s karde kArte
3>3(D) kArsu kArtesu
3>3(p) kArnu kArtenu
2/38>1s ?ikarga Pikurata kuaraje
2/3D>1s ?ikargasu  |?ikuratasu  |karasuje
2/3p>1s ?ikarganu  |?iksratanu  |karanuje
2/3>1DI1 Pikari Pikariti
2/3>1DE Pikaru Pikarutu kuruje
2/3>1p1 Pikarki Pikartiki
2/3>1PE Pikarka Pikartaka  [karkaje
3,1D/PE>2S  |?ikar Pikdirte
3,1D/PE>2D |Pikuri Pikuriti
3,1D/PE>2P |?ikArni Pikurtenu
1s>2s karne karteni
1s>2D kArsu kartensu
1s>2p kArnu kartennu
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